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����� ����	
���

�	� ����
� 

�����
�
��� �����3��
 ���	����
��= ��	����
������ �	��
�������� 

��	��
��% � ������� >�
��
� ����
���� ��	$>

�� (�8), ����
���� � �����������% 

������������= � �����% �	��
�������% �������. *
 ������ 
�
	��
 A���
������� 

�
���� � ���	����� A����
������� � �	��
��������� ����	��� �
��	�(��� 

���������� ���
����� ��
��
��
��� ��	����
������ ��	��
��% �	��
�
 � 

�
�����, �� ����� � �	��
	����� �	��
��������� ����������� � �	����� �
 

�


���
������ �	��
�
 ����������� ����
���� ��	$>

��. 8��
�
��, ��� 

����������
� �	��
������
� ������������ � ����
��% ��	
����� � �
����� ��(�� 

�
������� � �	��
	���� ���������� �	��
�
, ��B����=3�� ��	�� 50% �����	���� 

� �8 � ���	����� ������	����. ����	��
 �
(�
� 
�	� ��
�����%����� 
������
� � 

���
�
 � 
������ D

�����
 ��
� � $��	���� ��	����
������ �	��
�������� 

��	��
��% �	
���

� ��	�(���	���% ��

���% ����� ��(�$ �
������ ���
��������� 

���	
 � �

����% 	������� ���
��
. 8��
�
��, ��� �
	���� �
��% ��

���% ����� 

��(�� �
������� � ��	���%���$ ���	��$ �
 ��������	��� �	
��� ���>��� 

�����%����� (��������� ��	�����% ���������%), �
�����3��$ � 
����� 

�	��
�������� ���������� � ������� >�
��
� �8.  

 

�	
������

� 
��� 

!��� �	��
	���% �
�����
�������% �����

�$
�, ���������% �� �
���� 

����
$����
	���� �
�	=����% �
 ���	����� 150 	��, ��
����	��� $���
�	�� � 

���	����� ������	����. +	��
	���� �����	���� � �
�
	
 EE ���
 ����
��	� 0.74°�, 

�
� A��� � 1970 �. �����

�$

 ��
��	
 ��	�� ��� �
 0.5°�. 8�����
� ���
���
 

�	��
�������� ��������% �


���
�
 �	� ������ 
�������. �
�, � "�
��� (��	=�
� 

��
���%��$= �
��� !�����) �
���������
� �
�����
������
� �����

�$

 ����$�
 

(8��) � �
�
	
 EE ���
 �� �
�
	
 1970-� ����� ������	
�� �
���
�� �
 0.4°�, � �� 

�
��� �
� ��	��� �
 �
� ���	����� ������	���� EE ���
 
��� ����
��	 ��	�� 1.2°�. 

*
���	�� ��	���� �����	���� �����
���� � ������� >�
��
� ����
���� ��	$>

�� 

� �����% ��
���. 8����	���� ���
���(�
���� $����>����� �	�3
�� 	������� 

���
��
 � �
�����, ���

���>����� � �
�
	
 ��
���
 ��$�������� �
�	=����% 

(1979 �.) ��	�� ��� �
 20% (�	� �������� �����$�
 

��
���

����� 	��
 � 

������
�). �
���� ��
����� 	��
 � ���	����� ���� �
�(� 
���� $���
�	���, ��� 

����
	� ���������$= ����$���= � �����(����� �����(���� ��
���	������ 
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��
������� ��
�����, �
� �����(���� ����
��� �	��
�������� ��������� � �
����� 

��
�$� ����

������.  

8
����� $���
��>���� �	��
�������� ��������% ������
��� �� ��
���	���. 

�������% ��������%, ��B����=3�% ���
���$ �	��
�
 � ���$��
�
	���% ��
���, 

����
���� �	����� $��	������ ����
(
��� �

������� �
��� 
��
���������� 

�
�����(����� � 
������
�. /	��
�������� ����	� � A����
�����
� �� 

����	�
��
��= �	��
�
 20-�� ���	���� ��� �	������ ���>��� ������������ 

(��	����
�, �$	�
������
� 
���������) � 
��
��������� �
���
�� (
��
��������� 

�

������� �
��, 
A
���	�) ��
�>� ����
�������� �	��
	���� ��������� 

�
������% �����

�$
� ����$�
 � ���	����� ������	����, ��� �������	����$�� � 

��	��$ �������� 
��
���������� �����	����. � �� (� �
��� �����
���� 
�� 

�$3��������� 

���(����% ��(�$ ����	����� 
��$	��
�
�� � �
����� 

�
�	=����%. �
(��% �����������= ���
���� �	��
�
 � EE ���� ��	�	��� 

��
����	���� �����	���� � ��
��% ��	����� EE ���
, ������>�� ���
 � 1940-� ��., � 

���	��$=3�� ����	��
���� �� �
�
	
 1970-� ��. G�
 ��	����
����
� 

�����

�$
�
� 
���
	�� �
��	�(��
���� �� ���� >�
��
� �8, �
���� 
��	��$�
 

�����	���� ��
����� EE ���
 (8��) $��	����
���� � ������� >�
��
� �8 � 

������
�� �
����
	����� ��
����� � �
����� (
��. 1). &���	� � ��	�� �� 

����
�������� �����	���� ��
����� EE ���
, � 
��
��	���� A����
�����
� �� 

����
���������= �	��
�
 � ����	����
���� 
��
��������� � ������������ 

���>��� �����%����%. G�� ��(�� �������	������
�� � ���, ��� �����	���� ��
����� 

EE ���
 ��	� ����
�� �� ��	��� � ���>��� �����%������ �
 �	��
�, �� � � 

�����������% ��$�
����% �	��
�������% 
���
	��%. !
���(����� ����	���� 


��$	��
��� � �
����� �
�	=����% ��(�� �
�(� ��B�������� ����
���� �����
�� 

�
���
�� ���>���� �����%����� �
 �	��
� � ��
��� 8��, �	
���� ��

��� 

��	�����% 
���������. 8��	����� ���	����
���, ���
��, �������	����$=� � ���, ��� 


��	��$�
 A���� �����%����� � �$�������	������ � ���$ ������� �	��
�
 ��	� 

���
�� ��
��������, ��� �����������.  

8����
��� ���
������ ��
��
��
��� 8�� � $��	���� ��� 
��	��$�� � 

������� >�
��
� �8 (�
� �
���
����� «

���������� $��	����») ��	����� 

�
(��%>�% �
�
��% ���	����
��� ���
���� �	��
�
 4��	� � �
�����
 �$�$3�� 

�	��
�������� ��������%.  
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4�
����	���� ��
����
���������� ��	����
������ (50-70 	��) ��	��
��� 

�	��
�
 � ����
��% ��	
����� (��) ����	��� �� �
���� �
�	=����% � 


������
$���% �, �
� 

�
����	
�
����, ����
�� � 


�����	��
����� ��
�����
	����� 

�
$����
��
 ���� � ��, 

���
���(�
=3����� ���������� 

���
��������� ��
����
 ���	
 � 

����
��� >�
���. *�����
�� 

�	��
�������� ����	� �������� 


����
��� ����
��������� �
��� 

��	��
���. � ���	����� �����	��� 

	�� �����	��� 

����, 

$�
���
=3�� �
 ����� 

��	����
�����% �	��
�������% 

������������ � �� � �����	����� ��
����� EE ���
 � �� �����(��� ��	
�� � 

���
������� �����	����. �
��� �
����	�(���� �������
=��� �
 ����
������ 

��	����
�����% �	��
�������% ������������ � �� � ��	��
��% �	��
	���% (�	� 

�
������	$>

��%) 8��. � ���	����� ������	����, �
���
� � 1970-� ��. 

��	����
������ ��	��
��� � �� ��
������ � ��	�(���	��$= �
�$ � 
����� 

�����

�$
� ����
������ ���
�
 (�8�) � ��, ��� �����	��� �
����	�(��� �
	���� 

��
����	����� ��	
�
 �����������% �	��
�������% ������������ � �	��
	���� 

�����	���� ���	����� ������	���%. '������	����� ������
(����� �
��% �������� 

�� ��� ��
 �� �
����
�	���. 8
�������� ��
����������� ������� 
�
	��
 � 

��������	��� ���
���	(���	���� �
���� �
�	=����% (��
���
 100 	��) �� 

�����	��� ������
��� 

���	��� 
��
�������$= � ����������$= �	��
������$= 

������������ �
 ��(���
���� �
������� �
�>�
�
�. !��$	��
�� 
��
��	���� 

A����
������� � �	��
��������� ����	��� �������
�
$=� ����� ���
	���� 

����
���������� (�
� ��
������� �� 
��
��	= ����	�%) �	��
	����� �����	���� 

���	����� ������	���% �
� �
	���� 
��
��������� � ������������ �
���
�� 

���>���� �����%����� �
 �	��
�, ��� �� ���
�	��� ����
 �	� ��	
�
 ��$�
����% 

�	��
�������% ������������.  

����% �� �
(��� �
��	�� ��	����� ���$������ �������
��� ������ ��	
�
 


�����
	���� ��	��
��% �	��
�
 � �� (��	
��� ��	
���������� ���
�
, � ����
�% 

��
. 1: �
����������� 
���
	�� 8�� (°�) � 


�	����� >�
����� ���
� ����
���� 
��	$>

��, 5-	����� ���	���3�� ��
�������. 
�
���� HadCRUT3. 
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�
���	����� ��	���% ����
	 ������������ ��	����
������ ��	��
��%, ����
�	��� 

����� 6% �� �	�3
�� �8) � �	��
	���� �	��
�������� ���������. 

8
������
	���� ������
���� ���	����
��%, �����3����� �
����$ ���
��$, 

��	����� ��

������� ��	
��� �����%����� ������������� ��	����
������� 

��	��
��� 
������� ����
��% ��	
�����, ��� �
�	=�
=��� �
���	�� ��
����	���� 

��������� �8� (35°-60° �.>.). &�(�$ ���, ��	����
������ ��	��
��� �
�(� 

�
���	����� � ������� >�
��
� �8, ���
���(�
��� ��
����	����� ����������� 

�	�3
�� 	������� ���
��
 � �
����� � �����

�$
� ����$�
. '��� A��� �
���
�� 

�
�����
%�� �
(�� �	� ������ ��	
�
 ������������ ��	����
������ ��	��
��% 

��
�����
	����� ��
����
 ���	
 � ����
��% ��	
����� � �	��
	���� ��������� 

�	��
�
.  

� �
����3�� �
��� �
�
�
 ��	����������% ������ ��	
�
 ������������ 

�	��
�������� ��	��
��% � �	��
	���� �����	���� ��
������� �
�����
%�� 


��$
	���%, �
� �
� �	��
�������� ����	� �
����
���
=� �
	���%>�� $���
���� 

�����	���� � �
�
��
���������� ���	��������� $(� � �	�(
%>�� ������	����. 

����	���� � �������
��� ��
����	����� ��	
�
 �����������% ������������ � 

���
������� �	��
�������� ��������� �����	�	� �� ���

����
��
�� 

�$�������	������ ����	�% � �
���

� ���>���� �����%����� �  �$3�������� 

$	$�>��� �	��
�������� �
������. ���	
��� �
���� �
�	=����%, 
��� �	��
	���% 

(�
� � ��
�������% �� �8) �����

�$
� ����$�
 �$3�������� �
���	�	�� � 

���	����� ������	����. ���

����� �
��% ��������� � �	�(
%>�� ���� ����
��� 

����� ���
���� � ���
�������$ �����
��= ���
���� �	��
�������� ��������%. 

����$ ��>� ��
�
�����, ���������� ��
���� �
$���� ���	����
���, �
��� 

��������	���% ��	
� �����������% ������������ � 
��
���������� �����%����� � 

���
������� ��������� �	��
�
.  

8����� �
(��� 
�����
	���� ���	������%, �
��� �
� �
���� 	��
 � 

�����%����� �
 �	��
� ����
��� �����������, ��������� �	��
�
 � �
���� ���$� �� 

��	��� ��	����� �	�������� �	��
	���� �
�������, ��, �
� �$��� ���
�
�� � 

�
	���%>��, �
�(� ��
���
�� �����%����� �
 �	��
	���% �	��
�, ��	���� �
(��� 

������ � ��
��
��
��� �	��
	���� �	��
�������� 
���
	�%, ����
���� 

�����������% ������������= � 4����% �	��
�������% ������� (4/�). )��	����
��= 

��	����
������ ��	��
��% �	��
�
 � �
�����, ���
����
� �� ��
��
��
���, 

�	����= �
 �	��
	���% �	��
� � 
�����
	���� �	��
�������� 
���
	�� �����3��
 

�
��
� 

���
.  



� 7

���� ����
� 

1. '��
���	���� � ���������� ����
��� ���
������ ��	����
�����% 

�	��
�������% ������������ � ������� >�
��
� �8, � �
������� �����	���� 

��
����� EE ���
.  

2. /�	���������
� �����
 �	����� �
������� ��
�����%����� ���
�
 � 
������
� � 

����
��% ��	
����� � �
����� �
 �	��
	���� ��������� �	��
�
 � ��
��
��
��� 


�����
	���� �	��
�������� 
���
	�%, ��	=�
� A���
��
	���� �������� 
�(��� 

�
 ��

���
�� !�����. 

������ �

��������� 

1. ��
	�� �
���

��������% ��
$��$
� ������������ �
�����
�������% 

�����

�$
� � ������� >�
��
� �8, ����	��$� �
���� �
�	=����% � EE ����, � 

��	�= ����	���� �������� �
���
��, �	��=3�� �
 ��
��
��
��� ��	����
������ 

�	��
�������� 
���
	�%. 

2. ����	���� �����(��� ���
������ ��
��
��
��� �����������% ��	����
�����% 

�	��
�������% ������������ � �
����� �
 ������ 
�
	��
 �
���� ���	����� 

A����
������� � �	��
	����� �	��
��������� ����	���. 

3. )��	����
��� �	����� ������������ ��	����
������ ��	��
��% �	��
�
 � 

����
��% ��	
����� �
 �	��
�������� ��������� � �
����� � �� ����������� 

��	
�
 � ��
��
��
��� �	��
	���� �	��
�������� 
���
	�%. /�	���������
� 

�����
 ��	
�
 �����������% ������������ � �	��
	���� �����	���� ���	����� 

������	���% �
 ������ ���	����� A����
������� � ���������% &�J� � ����	�= 

��
����� �����	����� �	�� ���
�
. 

4. &���	�
��
��� ���
����
 ��	�(���	���% ��

���% ����� ��(�$ ���
�������� 

�
������ � D

������ ��
� � 	������ ���
����, $��	��
=3��� ��	����
������ 

��	��
��� �	��
�
 � �
����� � ���������� �
������� � 
����� ���������� �	��
�
 

������� >�
��
� �8. 

5. )��	����
��� �������� � �$3������
��� ��
����	���% ��
��
��	���% 
���
	�� 

�	�3
�� 	������� ���
��
 � �
����� � ��
����� EE ���
 �� �
��� �����	���� 

��
����� EE ���
 (�

�����% � ���
�������� �����������) � ����3�= 

���	����� A����
������� � ����	�= ��3�% ��
�$	���� 
������
� (&�J�).  

6. ����	���� ���
����
 ��
��
��
��� A���
��
	��� ��	����� ��� �
� 

���������
�� �8 �
 ���� �	��
	����� �����	���� � ���� ��	���� ��	�(���	���� 
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���
	�% �
�����
�������% �����

�$
� � �
����� � ����	����
���� ���	����� 

A����
������� � &�J� �
 �$�������	������ �	��
�
 ������� >�
�� � ���������� 

�������

��� 	������� ���
��
 � 

��������� ��
��.  

��
��� �

��������� 

�������� ������� ���	����
��� ��	����� ����	�
��
��� �	��
�������% 

������������ � ����3�= ���������� ����	�% �	��
�
, ��	=�
=3�� ����	� ��3�% 

��
�$	���� ���
�
, 
������
� � ��
����� 	��
. ��
	���
��
	��� ����
�	����  

A����
������ (�� ���� A����
������ ��� ���>��� �����%����%) � �	��
	����� 

�	��
��������� ����	���, ��
�>� ����
�������3�� �
�	=�
���� 

��	����
������ �	��
�������� ��������� � �
�����. �
��� A����
������ 

�����	�=� ����	����
�� ���� �
��
 

������� �


���
����� �
$����
�>�
���% 

���
�������% � 
������
��% ��
�$	���� � ��
����� 	��
.  

����
�� 

���� ��	 ����	��� 
�� �
����
	���� ���	����� A����
������� � 

����	�= ��3�% ��
�$	���� 
������
� �
� ����	����
��� �
�
���� �

������ 

$�	���% �
 ��(��% �

���� 
������
� (�����

�$

 ����
������ ���
�
 � �

���� 

��
����� 	��
) � 
������ D

�����
 � /

����� ��
�%, 
 �
�(� 
��
��	���� 

A����
������ �� ����	�
��
��= �	��
�������� ��������% �
 ���	����� 130 	��, 

��	=�
� 

�	����� A����
������ �
 �$�������	������ 
������
��% ��
�$	���� � 

���������� ��� �	� ���� �

������ $�	���%.  

���
��� ��	� �
������� A����
������ � ���������% &�J� � 

��
�����
�������% ����	�= �����	����� ��
����� �	�� ���
�
 � ����	����
���� 


���
	�% ���
�������% �����
������ ���	
 (�/�) � ����
��% ��	
����� � 

�
�����. 8
� A��� ����	����
	��� �
� 

�	����� A���
������� ������ �/�, �
� � 

������, ��	$������ �� 
��$	��
�
� A����
������� � ����������� ����	��� ��3�% 

��
�$	���� 
������
�, ���
�
 � ��
����� 	��
. �
��� A����
������ �����	�=� 

������� �	����� ��	����
������ 
���
	�% �
$����
�>�
���% ���
�������% 

��
�$	����, � �
������� � ����
��% ��	
�����, �
 �	��
	���% �	��
�.  

�	� ��B������� ��	���%���� ���	��
 
������
��% ��
�$	���� � �����% 

��
��� �
 $����>���� �������

��� 	��
 � D

������� � /

���� ��
�� 

�
�����	
�� ����	� �

��	������ ���

������� �	�� 
������
�, �����	�=3
� 

��	$���� 
�
	��������� 
�>���� �	� 
���
	�� �
�������� �
�	���� ��	��� 

	��
	����� ��������
 ���	
 �
 ��(��% �

���� 
������
�, ��
�>� ������
=3�� 

���������, ��	$������ � 
��$	��
�� ���	����� A����
������� � &�J�.  
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�
������ ��������� ����
���� �� ����
�: 

1. !��$	��
�� ���	����
��� �
���

��������-�
������% ��
$��$
� ������������ 

�
�����
�������% �����

�$
� ����$�
 � ������� >�
��
� �8 � ����	����� 

�
���

��������% ��
$��$
�, ������
=3�% ��	����
������ ��	��
��� �	��
�
 � 

�
�����. 

2. &��
���� ��
��
��
��� ��	����
������ (50-70 	��) 
���
	�% �	��
�
 � 

������� >�
��
� �8 ��	������� ��������% ���
��������� �
����
 ���	
 

(����
�����  � �

�
����� ����
�
�	
��������% ��
�����
	���% ��
�$	����) � 

D

������ ��
�, $��	����� ��	�(���	���% ��

���% �����= ��(�$ �
������ � 

�

����% 	������� ���
��
. G��� ���
���� ��(�� ��B������, � �
�������, 

�����	���� ��
����� EE ���
 � �
�����.  

3. /�	����������� ������ ��	
�
 ������������ ��	��
��% ���
��������� ��
����
 

���	
 � ����
��% ��	
����� � �	��
	���� ��������� �
�����
�������% 

�����

�$
� ����$�
, ��B����=3�� ���	� 50% �����	���� � ����
��� ��	$>

�� � 

���	����� �
� ������	����.  

4. &��
���� 
����� �	��
�������� ��������% � 
������ D

�����
 ��
� 

��	������� ��������	��� �	
���� ���>���� �����%����� �
 �	��
� (��������� 

��	�����% ���������%) � ��$�	��	����� ��	�(���	���% ��

���% �����= ��(�$ 

���
�������� �
������ ���	
 � �

����% 	������� ���
��
.  

5. &��
���� ��	���%���� ���	��
 
������
��% ��
�$	���� � �����% ��
��� �
 

���������� $����>���� �������

��� ��
����� 	��
 � D

������� � /

���� 

��
��, ����
���% � ��
�����%������ ��������� �
� ���������� ���	
, �
�����3�% 

� ��

���
��= ���	��������% 
���
	�� ��
�$	���� � ��������= ��
�����
	���� 

�

������� �����

�$
� ���
$� ��������
 ���	
, �
�����3�� (��	������� 

��������� ��
��������� ���

) � 
������	��������% 
���
	�� ��
�$	����. 

!������ ������� 

1. ���
��� ��	$���� ��	����������� ������ ��	
�
 �����������% ��	����
�����% 

������������ � ����
��% ��	
����� � �
����� � $���
��>���� ��������� �	��
�
 

� ���	����� ������	����. G�� 
��$	��
�� ��	$���� � ����3�= �
����
	���� 

���	����� A����
������� � �	��
	���% �	��
�������% ����	�= � �������	����$=� 

� ���, ��� ���	� 50% ���
�������� �����	���� � ��
����� 1970-� ��. ��(�� ���� 

����
�� � �����������% �	��
�������% ������������. ���
��� ���
�
��, ��� ����
� 
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���	
 � ����
������ ���
�
 � ������� >�
��
� �8 ��	�=��� �
(��� �
���
�� � 

��
��
��
��� �	��
	���� �	��
�������� 
���
	�%.  

2. *
 ������ 
�
	��
 A���
������� �
���� � 
��$	��
��� A����
������� � 

�	��
	����� ����	��� ��3�% ��
�$	���� 
������
�, ���
�
 � ��
����� 	��
 

(+&�J��) �
��	�(�� ���
���� ��
��
��
��� ��	����
������ 
���
	�% �	��
�
 

� �
�����, � �
�������, �����	���� ��
����� EE ���
. 8��
�
��, ��� �
��� 

��������� �	��
�
 ���$� ���� ����
�� � �

�
����� ���
��������� �
����
 � 

D

������ ��
� � $��	��
���� �	
���

� A�����$ ��	�(���	���% ��

���% ����� 

��(�$ �
������ � ��
���� 	����. *
	���� �
��% ��	�(���	���% ��

���% ����� 

�
��������
�
��
�� � �
��������� ���	����� A����
�����
� � �	��
��������� 

����	���. 

3. ���
��� � ����3�= +&�J�� ���
�
�
 �����(����� ��	���� �
��

3���� 

���
��������� �
����
 � D

������ ��
�, �
�����3�� � 
����� �	��
�������� 

���������� � ������� >�
��
� �8. ���

$(����% A����� �
�����
�	��� ���$= 

��������= �	� �����
��� 
����� ��
���� �	��
�
 � �
�>	��. &��
���� A���� 

��	���� �
�(� ����
� � $�����
�>�%�� 

��� ��	�(���	���% ��

���% �����= 

��(�$ ���
�������� �
������ � 	���� � D

������� ��
�.  

4. 8
��	�(�� ����% ���
���� ��
��
��
��� A���
��
	��� ��	����� �������� 


�(���� �
� ��

���
��% ����������� �8 � �����% ��
���, �
���, �
�
���
, �
� 

���	=����	��� ��	���
� ���
 2005/2006 �. � "�
���. 8��
�
��, ��� �
�����% �
��� 

����	��
��% ��(�� ���� $���
��>���� �
���� ��
����� 	��
 � D

������� � 

/

���� ��
��. ����	�� � ��B����� A����� ��	���%���� ���	��
 
������
��% 

��
�$	���� � �����% ��
��� �
 $����>���� �	�3
�� 	������� ���
��
 (�, 

��������������, �
�
��
 ���

������� �	�� 
������
�), �
�����3�% � ��

���
��= 


������	��������% 
���
	�� �
� ���������� ���	
.  

5. ���
��� ���
�
��, ��� � ���
������� 

���� �������� �
���� �� �������

��� 

	������� ���
��
 � EE ����, ����	��$=3����, � ��� ���	�, �	� ������ 

&�(�

����	��������% �
$��� A����
��� �� ��������= �	��
�
 (&+G)/ - IPCC), 

�$3�������� ����������
���� ��
��
��	��
� 
���
	�� �	�3
�� 	������� ���
��
 

(<8) � �
����� � ��
����� EE ���
 � �����% ��
���. 8
��������� A����
������ � 

����	�= ��3�% ��
�$	���� $�
���
=� �
 �
	���� �
��% 
���
	�� <8 � ��
����� 

EE ���
, �

�����% � ���
�������� �����������.  
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!������ � ���	
���
	�� �������

� 

1. 8
��	�(����% ���
���� ��
��
��
��� ��	����
������ ��	��
��% �	��
�
 � 

�
����� ��� �	������ ��
����
���������� ��	��
��% ����
�
�	
��������% 

��
�����
	���% ��
�$	���� (��&J) ����
�� �����$ �	� $	$�>���� 

�	��
��������� �
�����
 � 

��������� 
������. 

2. '��� 
���
	���� ������� ���	
 �� ���
�
 � 
������
$ � �
�����, �

��$ � 

�����
�� � ����
��% ��	
�����, �����	�	 �$3�������� ���

����
��
�� ������ 

�	����� 
�����
	����� ��	
���������� ��	����
������� ��	��
��� (����
����� � 

��&J) �
 �	��
�. !
�

���
�
 �������
 ������ �����%����� 
���
	�% 

���
��������� ��
����
 ���	
 � �� �
 �	��
	���% �	��
� � ����3�= ���������% 

����	� &�J� � ��
�����
�������% ����	� ��
����� �	�� ���
�
. G�
 �������
 

��(�� � �
	���%>�� �
��������� �	� ������ �	����� 

�	����� ���  

�
$����
�>�
���% ���
�������% ��
�$	���� �
 �	��
	���% �	��
�. � ����3�= 

�
��������� ���	����� A����
������� ���
�
��, ��� ��	
� ������������ 

��	��
��% ���
��������� ��
����
 ���	
 � �� � ���
������� �����	���� � 

����
��� ��	$>

�� ��(�� ����
�	��� ���	� 50%, ��� �������������� $����>
�� 

�����$ 
�	� 
��
���������� �����%����� �
 �	��
�.  

3. 8�	$�����% 
��$	��
� �
(�� �
� �	� $	$�>���� �
�����
 �	��
�������� 

�
������� �
 �	�(
%>�� ������	����, �
� � �	� ����
>�������
��� ����	�% 

�	��
�
, ����
��, ���	
��� ��	$������ �����
�, ���$� �$3�������� ��
�������
�� 

�$�������	������ �	��
�
 � $��	�����= ����
(
��� �

������� �
��� � 
������
� 

(�/�	� ����������
�� �$�������	������ � ���������� ����
(
��� 
A
���	�% � 


������
�). 

4. �
(��� 
��$	��
��� �
��������� ���	����� A����
������� �
 

�$�������	������ �	��
�
 � �������

��� ��
����� 	��
 (/&<) � D

������� � 

/

���� ��
�� ��	����� �����(����� ��	����� 
���
	�% �
 ���� �(��
����� 

�����	���� �
� �
�	��
=3��� � �
����� ���������
�� � ����� �
 
����� 

�����	���� � �
��% �
����� ��	������� $����>���� 	������� ���
��
 � 

��
���	����� ��
�
���� (�� 80% �� 40% /&<). )�������� ��������� �
�>�
�
 

�(��
=��� �
� A���

��	�
��
��� �	��
�������� �
����� �	�3
�� �
���������� 

	������� ���
��
 �
� �
���	(
=3���� �	��
	���� �����	����. G�� �����	��� 

�
����	�(���, ��� ��
�������� ��	����� ��� �
� ��>�
���� 
�����
�� ����
��� 
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����������� ��(�� $��	������� � �$�$3��, ������
� �
 �	��
	���� �����	���� � 

�����	���� � �
�����. 

5. 8
��	�(����% ���
���� ��
��
��
��� ����
�� �	��
�������� ��������% � 

������� >�
��
� �8 ���
��
�� ����� ��
�������� �	� �����
��� ���
���� 

�	��
�
 � �
�>	��, � �
������� �	� ��B������� ����
�� �	$��$
��%, 

�
��	�(��
=3���� � �
	���	��
�������� 
������
$����� � ����
��% ��	
����� � 

"�
���. 

������"�� ����
� 

�������� 
��$	��
�� 

���� ���	
���
	��� 
���
��:  

�
 �����


� ����	
 ���	����
��� �	��
�������� �
������� � <
��

��
�� ���
�� 

�	��
�
 )�����$�
 ������ 
������
� ��. �. &. ��$���
 !�*, �����

� 

#���������� �
�

�	���� )�����$�
 ���
��	���� ��. 8. 8. N�
>��
 !�*, 

�����


� ����	
 ���
�������% ��
�$	���� � ���
���� �	��
�
 )�����$�
 

��
���� �
$� ��. <�%����
, �����


� &����
�	���������� ������$�
 ��. &
��
 

8	
��
 (�. +
��$
�, +�
�
���), 

����� ����3
���� � 8�	�
��� ������$�� ��. 

����
 (/���
��(, ��	����
��
���), #������ ������$�� ��
���� ���	����
��% (�. 

E�	������, #��	�����), J���
� ��$����� ������
� �� ������
 (�. �$	$�
, 

#

����), � )�����$�� �	��
�������� ���	����
��% (�. 8����
�, +�
�
���), � 

+������������ ������$�� � )��	����
��	����� ����
� ��. *
����
 (�. D�
���, 

*�
�����); 

�
 �(������� 
��
��	��� "�
���%����� �������������� ��3����
 (EGS/EGU, �. 

*���
, #

���� � �. ���
, ����
��), � ��� ���	� � �
������ �
��	
>������ 

���	
����
, �
 4
�	=����	���% �����
����� �� ��$����= 

��������% 

�	��
�������% ������� � 

��
� �
��

��� ACSYS  (�. �
���-8���
�$
�, 2003), �
 

���
���% �
$���% �����
�����, �����3����% &�(�$�

�����$ ��	�
���$ ���$ 

(SCAR, �. �
���-8���
�$
�, 2008), �
 �����
��% �����
����� �� ��������= 

�	��
�
 (�. &����
, 2003). 

#����	�"�� 

8� ���� �����
�
��� ��$�	����
�� ��	�� 40 

���, �� ��� 23 � ������������� � 

�

$��(��� 
������
$���� ($
�
	
� ()������� !�*, #����
 
������
� � ���
�
, 

���	
�� !�*, &����
�	���� � ���
�	����, ������ 
��$
��, Geophysical Research 
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Letters, Journal of Geophysical Research, Journal of Climate, Climate Dynamics, Tellus, 

Climatic Change, Global and Planetary Change). 

$����% �	��� ��
��� 

��� �������� 
��$	��
��, �
����
�	����� � 

����, ��	$���� 
���
�� 	����. � 



���
�, ������3���� � ��������� �
 �
3��$ 
��$	��
�
� � ����	������ � 

��
���
����, ������
� ���� ���	����
��� �
��
�	�(
	
 
���
$.  

&
��	
��� � ��'�� ��

��
�"�� 

!
���
 ������� �� ��������, 7 �	
�, �
�	=�����, �����
 	���

�$
� �� 302 

�
������
��%. � ��% ����
(���� 268 ��

��� �����
, 6 �
�	��, 59 
��$����. 

&��������� ��

��
�"�� 

�� �������� �������
�
 
��$
	������ 

����, �
�������� ����
 ���
�������� 

��������� ���	����
��% �	��
�������� ��������% � ������� >�
��
� ����
���� 

��	$>

�� � ���
������ �� ��
�����%����� � �	��
	����� �	��
��������� 

�����������, ��
�$	�
$=��� ��	� 

����, 

�$�����
$=��� ������ ���	����
���, 


 �
�(� �
�������� �

���% ����
 ����
(
��� �����
�
���. 

( �����% )���� �
����
�	��� 
��$	��
�� ���	����
��% �
���

��������-

�
������% ��
$��$
� ������������ �
�����
�������% �����

�$
� ����$�
 (8��) 

� ������� >�
��
� ����
���� ��	$>

�� (�8) � EE ���� � �� ����� � 

�
$����
�>�
���% 
������
��% ��
�$	����%. ����	��
 �


���
�
� 

�
���

�������
� ��
$��$

 �����

�$
��� 
���
	�%, ����
��
� � 

��	����
������� ��	��
����� �	��
�
 � �
�����. � ������� 1.1 ��
�$	�
$=��� 

�
����� � ��	� ���	����
���. � ������� 1.2 �
�������� ����
��� �
���� � ������� 

���	����
���, ����	��$���� � 

����. ��
	���
��
	�� �
���� �
���� �� 8��, 

����
�	����% � �
��������� � ���

��������� �
$���-���	����
��	����� 

������$�� (��*)), �
���-8���
�$
�), ��	=�
=3�% �
���� ����
���% �
� 

	������ ���
���� � ������3�% �� �
������������ ��
����% 8�� �
 ����� 5°�10° 

>�
���/��	���� �
 ��
��� 1892-1999 ��. 8
���

��������� ���� ������������ 

����	�	��� � ����3�= 

�	�(���� �
 A���
������� �
�����
	���� �$����� 

(G�#). �
�����
� A��	=��� G�# �
����
�	��
 ����������$=3��� �	
����� 

���������
�� (+/), �����	������ �
� ������
������� �
���������� 

����������$=3�% G�# � ��������� ��	� �����

�$
��� 
���
	�%. 
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� ������� 1.3 �
�������� 
��$	��
�� G�# 
�
	��
 ��	�% �����

�$
��� 
���
	�% 

�� ����
��������� >�
��
� �8 �
 ��
��� 1892-1999 ��. ���	
��� �
���
�=, 

�����
����$ �
 	��

���������% 

�
��������� ����������� ��
����% 

«�	$�
%���» G�# �� �� ��
�������� 

����

 (���	������ �� 	��

���������% 

�
��������� $�
���
�� �
 ��
������� 

����������$=3�% ���� ������������), 

��
��� 4 A���
������� �
�����
	���� 

�$����� �
� �	� �������, �
� � �	� 

	������ ��
����� ����
(
� 

��
���������� ��
���$= ����
�
��=. 

G�� ���� ������������ �
�(� �� 

�
����� �� �
�������� ��
���
. 

�

�
��� 8�� � �����% ��
��� � 



��������� 
������ ���=� � �
����� � 

2 

�
 ��	�>$= 
��	��$�$, ��� � 	����% 

��
���. ����	���, ��� ��
�
� G�# 

(������
=3
� 21.2% ������������ 

�����

�$
�) ����
�
 � ����
�-


�	
��������� ��	��
���� (��/). 

/�

�	���� � ��/ ����
�	��� 0.51, 
 � 

���$3�% ����% ������������ �
�������� �
�	���� � �8, �
��� �
���
���% 

�
��������� ��	��
����, 0.77. G�#1 ����� �


���
�$= �
���

�������$= 

��
$��$
$ � �
����$��� �
� "�

���% � �����$��� � �
�
�$ �� +
��	
����. 

���

� G�# (12.3%) ��
���������� ��
���� ��

�	�
��
��
 (0.34) � \(��� 

��	��
���� � ����� ������
���$= ����	��$= ��
$��$
$, �� ����� �$3���������� 

��	
�
 � �
����

��������� 
���
	�� 8��. )����� \(���� /�	��
���, 

�


���
��$=��� ��
��
��	���� �
�����, ��� ���
�
�� $��	���� ����

��
 


������
����� ��	��
��% 8�� �
� �$>�% �
�
����� � ���������� ��	$>

�%, 

������
����� G�#2. 

��
. 2: G�#3 (���
�$) ������ (����
�-

�
�	�) 
���
	�% �
�����
�������% 
�����

�$
� � ����
$ �� 40° �.>.  �
 ��
��� 
1892-1999 ��. � (����$) ����������$=3
� 
�	
��
� ���������
 (+/3,(�
�
� �
��
�) 
������ � 
���
	���� �
����

��������% 
(60°-90° �.>.) 8�� (����
� �
��
�). 
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�
(��� 
��$	��
��� ��	����� ����	���� �
����% G�# (11.7%), ����

�, �
� ���
�
	 


�
	��, �� ����
�
 � ����������� �
$����
�>�
���% 
������
��% ��
�$	���� � 

�8, ����� �


���
�$= �
���

�������$= ��
$��$
$ � �
����$�
�� � 
������ 

D

�����
 ��
� � �
	��
 D
����
 � ������
�� ��	����
������ �����

�$
��� 

��	��
��� � �
�����, � �
������� 

�����	���� ��
����� EE ���
 (
��. 2, 

��

�	���� ��(�$ +/3 � 

�
����

��������% �����

�$
�% 

����
�	��� 0.79). ��
$��$

 A��% G�# 

�����	��� �
����	�(���, ��� A�
 ���
 

����
�
 � �

�
����� ��
����� 

	������� ���
��
 (&<8). 

��������	��� ��
����% 
�� 

�������
��� �
���� �� &<8 � ������ 

������ �� �����	��� 

����������
��
�� ��	����
����$= 


���
	�=, ����������$=3$= 

�����	���= � �
����� � ��
����� EE 

���
. ���
�� ��
 �
��	�(��
���� � 


�����
	���� � 
������
$�
��
���� 

�
���� �	� D

�����
 � /

����� 

��
�% �, �
� ���
�
�� � �	
�� 2, �
 

�
	���� �
��% 
���
	�� $�
���
=� � 


��$	��
�� A����
������� � &�J�. 

� ������� 1.4 ���$(�
=��� 

��	$������ 
��$	��
�� G�# 
�
	��
 � �
������� �������� ������ �� 
�
	��
 

�	��
�������% ������������ �� �
���� �
�	=����%. �����
����, ��� G�#1, 

����
��
� � ��/ � G�#3, ������
=3
� ��	����
������ ��	��
���, �

�������� 

��	�����= (94%) ������
=� ��������� �����% 8�� � �
����� � EE ����. !��. 3 

���
���
�� ��	
� A��� ��� ������������ � �
����

��������� (��
�������� �� 


�����$ 60°-90° �.>.) 
���
	�� 8�� � ��
�>� �		=��
�
$�� 
�	� ��/ � 

���������� 

���������� �	��
�
, �
��� ����
=3���� �	
���� �
���
�� � 

��
��
��
��� 
���
	�% 8�� � �
�����. �����, ��� �� 1970-� ��., ��/ �

�������� 

�� �����	� ��	
�
 � �
�������
	���� ��	��
��� 8��. � ��
��� 1970-1990 ��. 

��
. 3: ����
	�� �
����

��������% (60°-
90° �.>.) �
�����
�������% �����

�$
� � 
�����% ��
��� (��	�>�
� �
��
�), � ������� 
(�
�
�����
� �
��
�) ������������, 
������3�%�� � G�#1 (
), G�#3 (�) � ������� 
�$��

���� ��	
�
 G�#1+3 (�). 
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��	�(���	���� �
��� ��/ ��B������ ��	�� ��	����� 

���������� �����	����. � 

1990-� ��. ���
, ����
��
� � ��	����
������ ��	��
���� � �
����� ����� ������ 

�������% ��	
� � ���
������� �����	����. �
�
� ���
���
 (�
������% 
�� +/3, ��. 


��. 2) ��
�>� ��

�	�
$�� (0.45 �	� ������� ��
����% � 0.84 �
� 9-	����� 

���	���3�� ��
�������) � �������� ��	
���������� ��	����
������� ��	��
��� 

(��/), ��� ����
�� � �����% ����� G�#3 � ��/. G�
 ����� �$��� ���$(�
���� � 

���	��$=3�� �	
�
�. 

��� �
��, ��� ���, �
����	�(���	��� ����
���� � ������������� ��	��
�����, 

���� �����

�$
��% ������������ �

�������� ��	�����= ������
=� ��� �����% 

8�� � �
����� � EE ���	����, $�
���
�� �
 �������
	���� �
$������ � ����	���� 


��
���������� �����%����� �
 �	��
�������� ��������� � A��� 
������. �	� 

	������ ��
���
 �


���
�
 � ��	�� ��
����	��� ����>
� ����� ������������ 

�����

�$
� � 
������
��% ��
�$	����%. 8�
�
� ���$3
� ���
 ������������ 

������
�� ��	�(���	���% �����

�$
��% �
��� ���	����� ������	���%, 

�
����	�(���	��� ����
���% � �	��
	���� �����	�����, � �� �
��� �
� ���

� 

���$3
� G�# ������
�� ��	����
����$=  ����		���=.  

(
���� )���� �����3��
 
�
	��$ A����
������� � ����	�= ��3�% ��
�$	���� 


������
� � ��	�= ���	����
��� 
�	� ��	��
��% �	�3
�� 

���������� 	������� 

���
��
 � ��
��
��
��� �����

�$
��� 
���
	�% � �
�����. 8
����
�	��� 


��$	��
�� ���	����� A����
������� � ����	�= ��3�% ��
�$	���� 
������
� 

(&�J�) � ����	����
���� A���
������� �
���� �� �����

�$
� ����
������ 

���
�
 (�8�) � �

���� ��
����� 

	��
 (+&<) � EE ���� (
�
	�� �8� 

� +&< J���

 +
�	��, 

��	����
��
���, HadISST1.1) � 

�
������ �

������ $�	���% �
 

��(��% �

���� 
������
�.  

/������

��� �

������� �
��� � 


A
���	�% ��	� �
�
�� � 

������������ � �
����� 

�
�	=����% � A���
�������� 

�����
�� �	� EE ���
. 

G����
������ ���
���
=� (
��. 4), 

��� ����	� ��
�>� ����
�������� �����	���� ���	����� 30 	�� EE ���
, �� �� 

 
��
. 4: ����
	��� (5-	����� ���	���3�� �
�����)�
�
����

��������% (60°-90° �.>.) 8�� � �����% 
��
��� (��

� �
��
�) �� �
���� �
�	=����% 
(CRUT3) � 
��$	��
�
� A����
������� � &�J� 
(��
�
� �
��
� – �
����� �� 
��
��	= ����	���� 
A����
�������). N�
������% �����
���� 
�
������
�

������ ���	������ �� 
��
��	= 
����	���� A����
�������.  
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�������
 ����
�������� �����	���� ��
����� EE ���
. 8����	��$ ��������� 8�� � 

�
����� � �����% ��
��� ����� ����
�� � 
���
	���� +&<, �
����	
�
����, ��� 

�
�����% 

���(����� ��	����� ���$������ ��
��
��	���% 
���
	�� +&< � 

�
�
���� �

������ $�	����� �  ��
��� �����	���� ��
����� EE ���
. !��$	��
�� 

A����
������� �������	����$=� � ���, ��� �����	���� ��
����� EE ���
 

���
���(�
	��� ��
����	���% ��
��
��	���% 
���
	��% �	�3
�� 	��
 � �
�����, 

�

�����% � ���
�������� �
���
��, � �
�(� $�
���
=� �
 ��
����	���% ��	
� 

�����������% ������������ � ���
������� �	��
�������� ���������.  

� ������� 2.1 ���$(�
=��� ���
������� �
���� �� 	������$ ���
��$ � �
�����. 

������
�������� �
�	=����� �
 +&< �
�
	��� � 1950-� ���
�. �� A���� ��
���
 

�
���� ��	� ����	����, �������� �	� ������� ��
���
, ����
 ���	������ ��(�$ 

���
��� � 
������
�% ��
���
�� �
���	�� ��	���� �	����� �
 ��
��
��
��� 

�����

�$
��� 
���
	�%. ���$������ 
��$	�
��� �������
��� �
���� �� 	������$ 

���
��$ � ��
��% ��	����� EE ���
 �
���	� � �$3���������$ �
��(���= 


��	��$�� ��	��
��% �����% +&< � ���
������� �
����
� �
���� �� +&<, 



��
���

������ J���
�� +
�	��, ��	����
��
��� (HadISST1.1). �	� 

���	����
��� �������
����� �������� �
���� ��(�� ����	����
�� A����
������ � 

&�J�, � ����
�� A�� �
���� �	$(
� �

������� $�	������ �
 ����
������ 

���
�
. ����
��� ����	� � �
��������� A����
������� �
������� � ������� 2.2. 

!��$	��
�� �
����
�	��� � ������� 2.3. 8
��������� A����
������ ���
���
=� 

(
��. 4), ��� 

��������� �����	���� ��
����� EE ���
 ��	(�� ��	� 

���
���(�
���� ��
����	���% 
���
	��% +&<, �

�����% � ���
�������� 

�����������. �� A��� ����
�� � ����	����	���� A����
������ �
 

�$�������	������ � ����	����
���� �����
��
���� ��
����% +&< �
� 

������=3���� (A���
�������) ��
������ �8� � �
���
��, �	� ��
���
 

�������
��� �
���� � 1960 �. � ������� 2.4 �
������� �������� ������. 

��������, ��� �
���� HadISST1.1 >�
��� ����	��$=��� �	� �
�������� 

A����
������� �� ����	�
��
��= �	��
�
 EE ���
 � ������ ��������% �	��
�
, � 

�
������� 	������� ���
��
, ����	��$=3���� � 
��$	��
�
� &+G)/. G�� �
������ 

� ����
���$ �
����
�	���= �� A��	=��� �	�3
�� 

���������� 	������� ���
��
 � 

EE ����, �����	��$ �
� ���$������ ��
����	���� ��������% +&< � EE ���
 �� 

�
���� HadISST1.1 �� 1970-� ��., �
�������3�� � ���	����� 3 ������	���� ����
�� 

�
���� 	��
 ����
���� �����	� �	�������� 
��
���������� �����%����� �
 �	��
�.  
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8�	$������ 
��$	��
�� ������
(�
=� �������
����� ������ A��	=��� 	������� 

���
��
 � �
����� � EE ����, ��	$������ � ��*)), ����
�� $�
���
=� �
 

��
����	���� $����>���� �	�3
�� ��
����� 	��
 � 1920-� ��., �� ����
� �

������ 

� ���
�������� �����������. 

*��
�� )���� �����3��
 ���	����
��= �
���� 

���������� �����	���� ��
����� 

EE ���
, 8�� (
��. 1). G�
 �����	���� ��	����� �	=����� �	� �����
��� 

���
������ �����������% ��	����
�����% �	��
�������% ������������ � �
����� 

�, �
� �$��� ���
�
�� � �	
�� 5, �� 
�	� � �	��
	���� ���������� �	��
�
. *
 

������ 
�
	��
 �
���� �
�	=����% � ���	����� A����
������� � �	��
��������� 

����	��� �
��	�(�� ���
���� ��
��
��
��� 8�� ��	������� $��	������ �
����
 

���
��������� ���	
 � D

������ ��
�. 8
� 

A��� �����
���
���� �
(�
� 
�	� 

��	�(���	���% ��

���% ����� ��(�$ 

���
�������� �
������ � ��
���� 	����, 

���	����
���% � A����
�����
� � &�J� � 

���

$(����%  � ����
�	���� A����
������ � 

���������% ����	�= ��3�% ��
�$	���� 


������
�, ���
�
 � ��
����� 	��
 (&�J��).  

� ������� 3.1 

���
�
��
���� ������� 
������ 

�����	���� � �
����� � ��
����� EE ���
. G�� 

�����	���� ��	����� ����% �� ��	���%>�� 


�����
	���� �	��
�������� 
���
	�% � EE 

����. 4
 ��
��� ���	� 15 	�� �
���������
� 

�����

�$

 ����$�
 � �
����� $��	���	
�� �
 

1.7 �. ����
	��� ���	�% 
�(�� �
���	(
	�� 

��	�� ������	����. �
��� �����	���� �

����� 

� �����
�� �	��
�������� ��������%, 

����
���� 
��
��������� �����%������ �
 

�	��
� � ���	����� ������	����. ���$(�
=��� 



�	����� ���
����� ���>���� 

��
�������� 

�����%�����, ����
�� ���	� �� ��B������ �
�$= �	��
������$= 
���
	�=. *
 

�����
��� ������
�	���� �
���

��������-�
������� �


���
����� 8�� � 

�����
�� �
���
�� ���>���� 

��
�������� �����%�����, 
 �
�(� 
��$	��
��� 

����	�
��
��� A��� �����%����% � ����3�= �	��
�������� ����	�% ��	
���� 

��
. 5: ����
	����
�����
�������% 
�����

�$
� � �����% ��
��� 
(����
�-
�
�	�) �� �
���� ��*)) 
�
 ��
��� 1935-1944 ��. (����$) � �� 

��$	��
�
� ���	����� 
A����
������� � &�J� � 
��
��
��	���% 
���
	��% +&< � 
�
����� (���
�$). 
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����� � ������������ �


���
� ��������% �����

�$
� � A��� ��
��� �
� �������� 

���
�����, ��B����=3�� 8��. � ������� 3.2 � ����	����
���� �������� �
���� 

��*)) ���	��$���� �
���

�������
� ��
$��$

 8�� � �


���
���� 

�
����$�
�� �����	���� � 
������ D

�����
 � /

����� ��
�% � � �
	��� D
����
 

(��	
��������% �����
 �
�����). ����
	��, ����������$=3
� 8��, �

�������� 

��������
 ��
$��$
� G�#3 ��	� 
���
	�% 8�� � EE ����, ��	$�����% � �	
�� 1. 

������ 3.3 �����3�� 
�
	��$ ���	����� A����
������� � &�J� �� ����	�
��
��= 

�	����� ��������% +&< �
 �	��
� ������� >�
�� �8. !��$	��
�� ���
�
	�, ��� 


���
	�� +&<, ����������$=3�� �������% ���
���% ������������ +&< � �����% 

��
��� (� �
����$�
�� ������������ � 
�����
� D

�����
, +
��	
������� ��
�% � 

�
	��
 D
����
), �
������ � �����

�$
��� 
���
	��� 
�
	������� ���, ��� 

�


���
�� �	� �����	���� � ��
����� EE ���
 (
��. 5). 8
�������� 
�
	�� 

�$�������	������ 

��������% 8�� � ���������� �	�3
�� 	������� ���
��
.  

�
(��� 
��$	��
��� �
��������� A����
������� ��	����� ����	�
��
��� ���	��
  


������
��% ��
�$	���� 

� 
������ D

�����
 

��
� � �����% ��
��� �
 


���
	�� +&<. 

8��
�
��, ��� 
���
	�� 

+&< (
��. 6
) �
������ � 

$��	�����= 

�$
�$	������ ������� 

���	
 �� ���
�
 � 


������
$ (
��. 6�), ��� 

�����
�� ����(���� 

�
�	���� ����$�
 

(
��. 6�) � ��

���
��� 

���	��������% 
���
	�� 

��
�$	���� � ��(��% �
������
�, ���
���(�
=3�%�� $��	����� �
�
���� � =��-

�
�
���� ���
�� (
��. 6�) � �
�
���% �
��� D

�����
 ��
�, ��� ��	(�� �
������� � 

����������
��� ���
��������� �
����
 ���	
 � D

������ ��
�.  

�	� ���	����
��� 
�	� ��

���� �����% � ��B�������% ������� 
������

-��
���% 

	��-���
�, � ������� 3.4 
�
	���
$=��� 
��$	��
�� ����
�	����� (��� ���>��� 

��
. 6: ����
	�� (�
 ���
�
�-���

	�) �������

��� 
��
����� 	��
 (
, � ��	�� �������), �$
�$	������ 
(	
�������� � ������) ������� ���	
 (�, � ��/�2), �
�	���� 
����$�
 �
 $
���� ��
� (�, � �8
) � �
�������� ���

 (�, � 
�/�). 
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�����%����%) A����
�����
 � &�J�� ECHAM4/OPYC3 �	���	������= 300 	��. 

8
���

��������� ��
�����
	���� 

�
�>���� ����	� ����
�	��� �
���
�� 

2.8°�2.8° �� >�
��� � ��	����. &���	� ��
�>� ����
�������� �
���== 

�
���������$= �	�3
�� 	������� ���
��
 � �
����� (9.8 �	�. ��2) � ��� 

��(�����$= ������������ (0.22 �	�. ��2).  

�
(��� 
��$	��
��� 
�
	��
 ��	����� ����� � ���, ��� ��������� �	�3
�� 	��
 � 

D

������� ��
� �, ��������������, �����

�$
� ����$�
 � �����% ��
��� �
�(�� 

����� ��
���	�=��� ���
�������� �
������ � ��
� ��
�� ��� �
�
��$= �

���$. 

�
���% ����� �	��$�� �� ������
�	���� �

�
��% �
������������ �
����
 ���� � 

D

������ ��
� (8�D) � ����
�������� �	�� 125 � ��
�� ��
���
� 20° �.�. � 

�	�3
�� 	������� ���
��
 (
��. 7) �� ����	���� �
����. � 
�
	���
$���� � 

�
���� 

���	� ����
�	���� 

A����
������, ��������� 

���
��������� �
����
 � D

������ 

��
� ����
�� � ����������� 

�

�����
 �
�	���� ����$�
 �
� 

�
�
���% �
���= ��
�. G��� 

�

�����, �


���
��$���% 



������= �
�	���� ��(�$ 

����
��� ����
�(��� *�
����� � 

N�����
�����, �
���
����
	�� 

���
���� �����
���������� ���

 $ 

����
������ ��
�, ��
���	�=3��� 

����
�������� �������. /
� ���
�
�� � 

���	� 3.3, ��������� 	������� ���
��
 

���$� $��	��
���� ��-�
 �����
���� ��� 
���
	�% 
������
��% ��
�$	����. 

�
	��, � �	
�� 7, �$��� ���
�
��, ��� �
�
� ��	�(���	��
� ��

��
� ����� ��(�� 

�
������ � ��	���$ �
��

3���= ���
��������� �
����
 ���� � D

������ ��
�. 

*
 ������ ��	$������ � 

���	
� 1.2-1.3 
��$	��
���, � ������� 3.5 �
��	
�
���� 

���
����, ��B����=3�% �����	���� ��
����� EE ���
 � �
�����. '���
(�
����, 

��� �	
���% �
�����% 

���������� �����	���� ���	
 ��	����� ��	�(���	��
� 


���
	�� ���
��������� �
����
 ���	
 � D

������ ��
� � ��
����� EE ���
, 

�
����>
� � $����>���= �������

��� ��
����� 	��
 � �����	���= (�
���	�� 

��	����$ � �����% ��
���). E��� �
�
� ��	����
����
� 
���
	�� �	�3
�� 	������� 

���
��
 � �
����� ���$����$�� � ���
������� �
����
� �
���� (HadISST1.1), � �� 

 

 
                             ����	���% ���  

��
. 7: 4�
����� (5-	����� ���	���3�� �
�����) 
�
������������ �
����
 ���� (� ��
���� 125 � 
�	��) ��
�� �
�
��$= �

���$ D

�����
 ��
� (� 
���
�
$�
�, ��	�>�
� �
��
�) � �����% (����
�-

�
�	�) �	�3
�� 	������� ���
��
 � �
����� (� 
106 ��2, �
�
�����
� �
��
�) � &�J�� �
ECHAM4/OPYC3 (>�
	
 ��

�
). 
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�$3������
��� ����
�� �
� 
������
$���� �� �
���� ��*)) (�.#. 4
�

��), �
� � 


��$	��
�� ����	�
��
���, �
����
�	����� � �	
�� 2. �����
����, ��� 

����
�
�	
��������� ��	��
��� (��/), ����
�� �
��� 

���
�
��
���� �
� �������% 

�
���
 � ��
��
��
��� 
���
	�% 

���������� �	��
�
, � ��
��� 1920-1950 ��. �� 

��

�	�
$�� � �����

�$
���� 
���
	���� � �
�����. 8��
����� 

����
����

����� ����� ��/ � 

���������� �	��
�
 �$��� 

�����
��
 � �	
�� 4. 

����
	�� ���
��������� �
����
 ���� � D

������ ��
� ���	� ���� ����
�� �
� 

�	���	���% �	$��$
���% 
�����
	���% 
������
��% ��
�$	����, $��	����% 

��	�(���	���% ��

���% �����= ��(�$ �
������ � ��
���� 	����, �
� � 

���$	����% �
����
 ��	����
������� ��	��
����� ����
�
�	
��������% 

��
�����
	���% ��
�$	���� (��&J). 8
� A��� ��	�(���	��
� ��

��
� ����� 

�
�(� ��

�� �
(�$= 
�	� � $��	������ 
��	��$�� ��������� �
����
. � 

������� 3.6 ���$(�
=��� ��	$������ � �
���% �	
�� 
��$	��
��. �����
����, ��� 

��
����	���� �����

�$
��� ��������� � �
����� ���$� �
�(�  ��
���
��  

��

���� �����%����� �
 ��&J �$���, �
�
���
,  ��	
�	���� ��
�����
	����� 


������
���� ��
����
 ���	
 � �	
�� � ����
��� ��	$>

��. G����� �
���� 

�����%����� 

���
�
��
����  � �	
�� 5.  

� ��
���
�% )���� 
�
	���
$���� 
�	� ���
��������� �
����
 � D

������ ��
� � 

��
��
��
��� ��	����
�����% �	��
�������% ������������ � �
�����. � 

����3�= 
�
	��
 A���
������� 

�
���� � �
���� 

�
���	(���	����� 

A����
�����
 � �	��
	���% 

�	��
�������% ����	�= 

��
���
�
���� 

��
���

����
� 

�������
 �� ��
���	�=3�� 

�	����� ����
�
�	
���������� 

��	��
��� (��/) �
 

�	��
�������� �
���� � 

�
�����, ��	$���>
� 



��
���

����� � ����� � 

�	���	���� (1965-1995 ��.) 

��	�(���	���� �
����� ��/, �
�>��>���� �
 ��
��� �����	���� � �
�����. 

�
���� ����	����� A����
�����
 �������	����$=� �� ��
���	�=3�% 
�	� 

 
����	���% ��� 

��
. 8: � /�

�	���� (� ���	���3�� 50-	����� ����, 
�������� 
��� ��	
(��� 5-	����� ���	���3�� 
��
��������) ��(�$ �������� ��/ � 

��������% 
8�� � �����% ��
��� �� �
���� �
�	=����% 
((�
�
� 	����) � ����	���� 

����
� (����
� 
	����). &���	���� ��
����� �����$�� �� �
�����. 
/�

�	���� �
���>
=3�� 0.55 ��
���������� 
��
���� (90%). 
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�

�
��% ���
��������� �
����
 � D

������ ��
� � ��
��
��
��� ��	����
�����% 

������������ �
�����
�������% �����

�$
� ����$�
 � �
����� � �����% ��
���. 

� 
�
	���
��
�>���� ����
�	���� A����
������ ��	����
������ ��	��
��� 

�
����
 ������
��� ����
�� ����������� ��&J. � A��� A����
������ ����	� 

��
�>� ����
�������� ��	����
������ ��	��
��� �	��
�
 � �
�����, ��� ����
�� � 

��	��$ ��
���	�=3�% 
�	� ��&J � � ��
��
��
��� �
�	=�
���� 

��	����
������ ��������% �	��
�
.  

� ������� 4.1 �

��� ����
�� �����
��� � ��	� ���	����
��� �
���� ��
��
��
��� 

��	����
������ ��	��
��% �	��
�
 � �
�����, �����
����� �
 
��$	��
�
�, 

��	$������ � �	
�
� 1-3. ������ 4.2 �����3�� ����
��� ����	����
�>�%�� 

�	��
�������% ����	� ECHAM5/MPI-OM � ����
�	����� A����
�����
 

�	���	������= 500 	��. ������ 4.3 ����
(�� 
��$	��
�� 
�
	��
 ���	������ 

A����
�����
 � ������
�	���� � �
����� �
�	=����%. 8��
�
��, ��� ����	� ����� 

��
�>� ����
�������� �
� ��
����������, �
� � 
��	��$�$ ��	����
������ 

��	��
��% �	��
�
 � �
�����. )��	��$���� ����� A��� ��	��
��% � �������� 

����
�-
�	
���������� ��	��
��� (��/), ��	�=3����� ���$3�% ����% 

������������ 
������
��% 

��
�$	���� � ������� >�
��
� 

�8, �, ����
=3����� 

�
(��%>��, �
���
�� 

��
��
��
��� �	��
�������� 


���
	�% � �
�����. 

8
��������% 
�
	�� ���
�
	, 

��� ����� ��(�$ ��/ � 

��	��
����� �����

�$
� 

����$�
 � �
����� �
 ��
��� 

����
$����
	���� �
�	=����% 

����
����

�
. 8�
���� 

��
����% ��	�(���	���% 

��

�	���� ��/ � �����

�$
���� ����������� ���$� ��
���(
���� � ��
���
�� 

���$������ ��
���������� ��
����% 	���%��% �����, ��	=�
� � ��
���� � 

��
��
��	����� ��
������� ��

�	���� (
��. 8). �
�
� ����
����

����� ��
�>� 

����
����������� �	��
�������% ����	�=. �	� ���	����
��� �
���� 

�����

�$
��� ��	��
��% � �
����� �
������ 
�
	�� ��

�	�������� �����% 

 
����	���% ��� 

��
. 9: � � /�

�	���� (� ���	���3�� 80-	����� ����, 
�������� 
��� ��	
(��� 5-	����� ���	���3�� 
��
��������) ��(�$ ���
�������� �
������ � 


��������% 8�� ((�
�
� 	����), ��(�$ �
������ � 
�������� ��/ (����
� ��	�>�
� 	����) � ��(�$ 
�������� ��/ � 

��������% 8�� (����
� 
�
�
�����
� 	����). /�

�	���� �
���>
=3�� 0.40 
��
���������� ��
���� (90%). 
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��(�$ ���
�������� �
������ � ����	�, ��/ � 

��������% 8��. !��$	��
�� 

����
�� � ������% ��

�	���� ��(�$ �
������ � 8��, $���%����% �	� ���% 

�
���	(���	������ ����	����� A����
�����
, � �� �
��� �
� ����� ��(�$ ��/ � 

�
������ �	� ��/ � 8�� ��
����	��� �	
��� � ����
����

�
 (
��. 9). �
��� 

��

���, ������
(�
� 
��$	��
�� �	
�� 3, A��� ���	����% A����
����� A����
����� 

$�
���
�� �
 �

�
��� ���
��������� �
����
 � D

������ ��
� �
� ��
���	�=3�% 

�
���
 � ��
��
��
��� ��������% �	��
�
 � �
�����. �

������ � ������������= 

��&J ���
�
	�, ��� ������ ��&J ��
��
$�� ��	����
������ ��������� �
����
 

�
 ��	����
������ �
������� �
�>�
�
� (50-80 	��). � ������� 4.4 �
������� 

�������� ������ �
���������� ���	����
��� ��	����
�����% �	��
�������% 

������������ � �
����� �� �
���� ����
�	����� A����
�����
 � &�J�� 

ECHAM5/MPI-OM. !��$	��
�� 
�
	��
 �������	����$=� �� ��
���	�=3�% 
�	� 

�

�
��% ���
��������� �
����
 ���� � D

������ ��
� � ��
��
��
��� 

������������ 8�� (� �
������� �
�>�
��� �� �����	���� 	�� � ��	��) � �
����� � 

�����% ��
���. )������������ ���
��������� �
����
 ���� ��
���	��� ��	����$ 

�	�3
�� 	������� ���
��
, ��
���	�=3�% �$
�$	������ ������ ���	
 � 

����
������ ��
� � 
������
$. /
� ���
���
=� �
���� �
�	=����% � ����	���� 

A����
������, �������� �
���
��, ��
���	�=3�� ��(�����$= ������������ 

���
��������� �
����
, ��	�=��� ��������� 
������
��% ��
�$	���� � 
������ 

*�
��(����� � D

�����
 ��
�%. *
 ��	�� �	���	���� �
������� �
�>�
�
� (�� 

������	���� � ��	��), ��
����	��$= 
�	� �
�(� ��

=� ��������� ��&J, �
��� 

�
���
���% ����
�
�	
��������% ��
���
	����% ��
�$	����% (�EJ). 8
���� ��	
� 

�EJ ��
������� ��
���	�=3�� �	� ��	����
������ (�������) ��	��
��%. � 

�
���� ����	���� A����
������ ��

�	���� ��(�$ �
������ � D

������ ��
� � 

�������� �EJ (�
����$� ��
�����
	����� �
$����
��
 ���� � ����
��% ��	
����� 

�
 30° �.>.) ����
�	��� 0.28 �	� �
����������� ��
����% � 0.60 �
� 30-	����� 

���	���3�� ��
������� (�
� �	���	������ 
���� � 450 	��). ����������$=3�� 

��
����� �	� ��

�	���% � �

������� �
�	���� ����$�
 ����
�	�=� 0.42 � 0.29. 

�$��

�� A�� ��
 �
���

 ��B����=� �
���
�� ��	����$ ��	����
�����% 

������������ �
����
. )�������� 	���������� � D

������� ��
� ��
���
=� 

�$3��������� �	����� �
 
�����
	��$= 
������
�$= ��
�$	���=, ���, � ���= 

���
���, ��(�� �����%�����
�� �
 ������������� �
���������� 
������	��
 � 

����� 	��
 �� �
����� � ��	
����$. G�� ����
�� � �����(����� �$3������
��� 
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��

���% ����� ��(�$ 
�����
	����� �	��
��������� ����������� � D

������� 

��
� � ����
�
�	
��������% �EJ. 

� ��
�% )���� 
�
	���
$���� 
�� A����
������� �
 �$�������	������ �	��
	���% 

�	��
�������% ������� � 
���
	���� �����
� ���	
 �� ���
�
 � 
������
�, 

����
���� � ��$�
����% ������������=. !��$	��
�� 
�
	��
 ���
�
	�, ��� 

��$�
����� ��	����
����
� �	��
������
� ������������ � ����
��% ��	
����� � 


�	
��������� �����
� �
����� ���	
 ������ ��
����	���% ��	
� (���	� 50%) � 

����>���� �����

�$
� ����
���� ��	$>

�� � 1980-� ��. +	
��$= 
�	� �
� A��� 

��

	� 
���
	���� ������ ���	
 � �
�����, � 
������, ���
��
=3�� 	�>� 

�����	��� �
������� ����
������ 4������ >


. 8
����	
�
����, ��� $��	������ 

����
� ���	
 �� ���
�
 � 
������
$ � ���	����� ������	����, � �
������� � 


�	
��������� �����
� �
�����, ����
�� � $��	����� ���
��������� ��
����
 ���	
 

� ����
��� �
�

�	����, ����
��, � ���= ���
���, ����
�� $��	����� (��
������ � 

��	�(���	��$= �
�$) 
�	
��������% ��
�����
	���% ��
�$	����. !��$	��
�� 

A����
������� $�
���
=� �
 �
(�$= 
�	� �����������% ������������ � ����
��% 

��	
����� �� ��	��� � ��
��
��
��� 
�����
	����, �� � �	��
	���� ��	��
��% 

�	��
�
, 
 �
�(� ��B����� ���
���� �
���� �����%�����. 8�	$������ 
��$	��
�� 

�������	����$=� � ���, ��� $��	������ 

������ �	��
	����� �����	���� � 

���	����� 30 	�� ��(�� ���� ����
�� 

�� ��	��� � $��	����� 
��
���������� 

�����%�����, �� � � �����������% 

��	����
�����% �	$��$
���% �	��
�
. 

G��, � ���= ���
���, $�
���
�� �
 

�����(����� ��
�������  

�$�������	������ �	��
	���� 

�	��
�������� ����	�% � $��	�����= 

�������

��� �

������� �
��� � 


������
�.  

� ������� 5.1 ���$(�
���� 

��	����
����
� ���
���
 �	��
�
 � EE ���� � 
��$	��
�� 
��
��	���� 

������ � 

�	��
��������� ����	���, $�
�����
�>��� � �

������� ��� A����% 

&�(�

����	��������% �
$��� A����
��� �� ��������= �	��
�
 (&+G)/). � ����� 

���	����� 
��$	��
��� �	��
��������� ����	�
��
��� � 
�
	��
 A���
������� 

 
��
. 10: � �
����������� 
���
	�� 
�
�����
�������% �����

�$
� (� °�) � 
�
����� �� �
���� CRU (��

� �
��
�) � 

��$	��
�
� 
��
��	���� 

������ � 
����	��� &+G)/. j�
�
� �
��
� – �
����� 
�� 
��
��	= ����	�%. N�
�����
 – 
�
������
�

������ ���	������ �� 
��
��	= 
����	�%. 
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�
���� 

���
�
��
���� �
��	��
 �����	���� ��
����� EE ���
. �����
����, ��� 

���>��� (�
� ������������, �
� � 
��
��������� 

��
������� �����%�����) �
 

�	��
� �� ���$� ��B������ A�� �����	����, 
 �
�(� ��� ���
	��$= ��
$��$
$. 8�� � 

�
����� ���� ����	����� �� ��
�
���
 
��
��	���� 

������, � �� (� �
��� 

���
������� �����	���� ���	����� ������	���% �

�������� ���
	��� 

����
���������� ����	��� (
��. 10). � 

���	� �
����
�	�� ����
 ��$�	����
���� � 

���	����� ���� 

���, 
�
	���
$=3�� ��	����
������ ��	��
��� �	��
�
 � 

����
��% ��	
�����, �
� �
���
���� ��	
��������� ��	����
������ /�	��
��� 

(��/). � �����	���� 

���
� ��
����������% 
�
	�� ����	��� ����
	, ���(�% � 

��/ �
� � �	��
	���� 
���
	��� �����

�$
�, �
� � � $�
	����� (�� 


�	
���������� �����

) 
�����
�. �
�(� ���

$(���, ��� 

���(����� ��(�$ 


��$	��
�
�� ����	���� A����
������� � $����� ���>��� �����%����% � �
����� 

�
�	=����% ����
�� � ��/, ���
�� �
����� A��% ����� �� ��� ��
 �� ����. 

j��	����� A����
������ � &�J�, �
�������� �� ��3��
�����% ��������, � 

�
�����
����� 
���
	���� �8� � ����
��% ��	
�����, ����������$=3��� ��/, 

�
�(� �� ���$� ��B������ ��� �	����� �
 �	��
	���% �	��
�. �
��� ��

���, 

�
��
� �
��	��
 �
��$�� ����� �������� �
� � ����	�
��
���, �
� � � 
�
	��� 

�
���� �
�	=����%, ����
�� ����	��$=��� � �
���% �	
��.  

� ������� 5.2 

���
�
��
���� ����
	 ��/ � ��	� �����

�$
� ����
������ ���
�
 

� �


���
�����
� ��
����� 	������� ���
��
. 8��
�
��, ��� ��������� ������
 

��/ (
���
	�% �8� � ����
��% �
��� 

��	
���������� ���
�
) � 

��������% 

�����

�$
� � �����% ��
��� 

�

�������� ��������� (
��. 11). "3� 

��	�� ��	���� �������� �����
���� 

��(�$ ��/ � G�#3, ���$(�
�>�%�� � 

�	
�� 1. G�� ����
�� � ��
�������� 

��	����
������ �����

�$
��� 

��	��
��% � �
����� � ��/. 8�����
� 

��/ 
���
	�� 

���������� 	������� 

���
��
 �������
 � 
�����
	���� 

�
���� � ��������� ��

��� ������
(�
���� 
��$	��
�
�� ����	������ 
���
�� 

A����
������� � &�J� (�	
�
 2). ���$(�
���� ����������� �����

�$
��� 

��������% � �8 – ��	�� ������� ����� �����	���� � ������� >�
��
� � �

������ 

 
��
. 11: � �
����������� 
���
	�� 
�
�����
�������% �����

�$
� (� °�) � 
�
����� �� �
���� CRU (��

� �
��
�) � 
������ ��/ (�8� � ���. ��	
����� � �����
� 
40° �.>.-60° �.>.,50° �.�.-10° �.�.).  
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� $��
������ � �
���������� >�
��
�� - ��	$���>
� �
��
��� «

���������� 

$��	����», ���������% ���
���� ����
��� ���������� ���$(�
���� � �
����3�� 

�
���. �
� ��
��� «$��	����» �
����	
�
��, ��� ��������� �	��
�
 � �
����� 

����
�� ���>���� �
���

�� � $��	��� ��
���	������ ��	�(���	����� 

��

����� �������. ��%������	���, �	��
	���� �	��
�������� ����	� 

����
�������� «

��������� $��	����» � A����
�����
� � 
��
��������� 

�����%������ �
 �	��
�. ���
��, �
����� �� 
��
��	= ����	�% ��������� 8��  

(����
=3���� 	$�>��� � ����	� $���%������� �����
�� ���	��
 �
 ���>��� 

�����%�����) �$3�������� ����������
=� (�
 ��	����$ �� 30% �� 60%, � 

�
��������� �� ���

����� ��
���
) �
�	=�
���� 

������ � ���
���� �����	���� 

� ������� � ������ >�
��
� � ���	����� ������	���� EE ���	����. 8
����� 

«

���������� $��	����» �������
�� �� ��
���	���, �� �
 �����
��� 
�
	��
 

�
���� ��(�� �
����	�(���, ��� ��� ����
�� � �	������ ��/ �
 �	��
� �
�����. 

8�����
(����� A��% �������� ��	$���� � ����3�= ����	���� A����
�������, 


��$	��
�� � 
�
	�� ����
�� �
����
�	��� � �
���% �	
��. 

� ������� 5.3 ���	��$=��� 
���
	�� �$
�$	������� �����
 ���	
 �� ���
�
 � 


������
$, ����
���� � ��/, �	� �
�� ��	����
������ ��������%: ��
���� �� 

��	����% �
�� � �
�
	� EE ���
 � 

���	��$ �
����$�$ � 1940-� ��., 

���	����
�>�% ��
���� � ��	����% 

�
�� � 1970-� ��. � ��
���� � 

���
������% �
���	(
=3�%�� ���	�% 

�
��. ������ ����	���� �� �
���� 


�
�
	��
 *
����
	����� ����

 

�������� �
�������, �N�, (NCEP) � 


��$	��
�
� A����
������� � &�J�, 

����	��$=3�� A���
������� �
���� 

�� �8� � +&< � EE ����. ����	��
 

��
$��$

 �
��� 
���
	�% � ��$�� 

�


���
���� �
����$�
��: � 

����
��% ��	
����� (����
����� � 


���
	���� �8�) � ��	
��������� �����
� �
����� ��	��� +&<. ���$(�
=��� 

�
��	��� �������
��% ������ ������� ���	
 � ��
��% ��	����� EE ���
, 

����
���� ���$������� �
���� �� +&<. 8����	��$ 
���
	�� ������� ���	
, 

 
��
. 12:� ����
	�� �
������������ 
�$
�$	������� �����
 ���	
 (��/�2) � 
����
������ ���
�
, ����
���� � ��/ � 
����	� ECHAM5/MPI-OM � 
����	����
�>���� � A����
�����
� � 
���������% &�J� � ����	�= ��
����� 
����
������ �	�� ���
�
. 
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����������$=3�� 

�	����� �
�
� ��/ � EE ����, ���$� ����
(
�� ��	
� 

���>���� �����%����� �
 �	��
�, �
������ 
�
	�� 
��$	��
��� ����
�	���� 

A����
������� � �	��
��������� ����	���. D�	� ���

�� ����	�, 
��$	��
�� 

����
�� ��
�>� ���	
�$=��� � �
����� �
�	=����%, � ��	$���� ������ 
���
	�% 

������� ���	
, ����
���� ���	=����	��� � �	������ ��/. ��
$��$

 
���
	���� 

������� ���(
 � A���
�������� �����
�� � ����������$=3�� �
��� �����
� 

��������� ���
��������� ��
����
 ���	
 (��
���
 0.1 8��) 	�(�� � ��
�
���� 

A���
������� ������ ������������ ��	��
��% ��
����
 ���	
 (���
�� � ��(��% 

�
��� A���� ��
�
���
). 8�	$������ ������ 
���
	�% ������� �$
�$	������� ���	
 

� ����
������ ���
�
 (
��. 12), ����
���� � ��/, ��	� ����	����
�� � 

A����
�����
� � �	��
�������% ����	�= �	� ������ �	����� ��/ �
 �	��
	���% 

�	��
�. �	��$�� ��������, ��� 
���
	���� ������ ���	
 ���

$(��
=��� � 

��������	��� ����	�>�� 
������, �
���
=3�� ����� 6% �	�3
�� �8 

(��	
��������% �����
, � ����
$ �� 40°�.>.). 8���
����
 ����	���� A����
������� 



���
�
��
���� � ������� 5.4. )���	����
	
�� &�J� &����
�	���������� 

������$�
 &
��
 8	
��
 ECHAM5, ����	����
� ��
�����
�������% ����	�= 

��
����� ��
���>������ (50 �) �	�� ���
�
 (&�8�). �$�� A����
������� 

�
�	=�
	
�� � ���, ��� ��������	��� �	
�
� ��
������
� ���
��� ����
��������� 

��
���>
����� �	�� ���
�
 (���	� 10 	�� �	� �	$���� � 50 �) �����	��� 

�	��
	����$ ��	= �8� ��
�%�� � ����� ��
��

��������� ��������� �
� 

�
���	(���	���� �����%����� 
���
	���� �����
� ���	
 �� �
��� A���
��
	���� 

�
� ��/ �
���	(
=3���� 15-20 	��. ����
	���� ������ ���	
 �
�
�
	��� � 

����	� �
� 
���
	�� ���
�������% �����
������ ���	
 (�/�), �
����
�	�=3�� � 

&8�� ��
���� ���	
, ����
���% � 3-��
��% ���
����% ���
�
. ����
	���% ����� 

���	
 � ����
������ ���
�
 �
�
�
	�� ��	��� � ����
�
�	
���������-

��������� 

�����
� (40° �.>.-90 °�.>., 70° �.�.-80° �.�.), ���
���
=3�� ����� 6% �	�3
�� 

����
���� ��	$>

��. �	� ������ ��	
�
 
���
	���� �������, ����
���� � 


���
	���� �8� � 
���
	���� +&<, ��	� �
������� A����
������ � 

�����%������ ��	��� � ��	
����� (�����
 70° �.�.-80° �.�.,40° �.>.-60° �.>.) � ��	��� 

� �
����� (�����
 70° �.�.-80° �.�.,60° �.>.-90° �.>.). G����
������ � 
���
	����� 

�����
�� �/� �

����
	��� � ����
�	���� A����
�������, ����������$=3�� 

�
����� ��
������ �/� �	� ���
�������� �	��
�
. 8
���	(���	������ �
(���� 

����	����� A����
�����
 ����
�	�	
 100 	��, �
���� ���	����� 80 	�� �
(���� 

A����
�����
 ����	����
	��� �	� 
�
	��
. 
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 !��$	��
�� A����
������� �
����
�	��� � ������� 5.5. �
����������� �����	���� 

��	������� 
���
	����� �����
 ���	
 � �
��������� A����
������ ����
��	� 0.39°C 

�	� ����
���� ��	$>

�� � 0.24°C �
� �	��
	���� ��
�������. ���	
��� �
���� 

�
�	=����% (
�
	�� A���
������� �
���� )�����$�
 ����������� ���	����
��% 

+���

�
, GISS), �����	���� � ������� 1978-2007 ��. ����
��	� 0.68°C � 0.45°C 

��������������. /

���
 �����

�$
��� 
���
	�% � ����	� (
��. 13�) ���	���� 

����� ����(�% �
 �
�	=�����% �
��� �
 ��
��� 1978-2007 ��. (
��. 13�) � �
���	�� 

��	���� �����	����� � �� � �
����� � 
�
	�������% >�
����% ��
$��$
�% � 

��	
�����. �	��$�� �������� �


���
�$= ��
�$ 

��
���	���� �����

�$
��� 


���
	�% – �
���(���$= ��	�(���	��$= 
���
	�=, �
����$�>$=�� �� ��������% 

���� �� ����

 ����
���� ������ ���
�
, �
��$����$=3$= �
� � �
���� 

�
�	=����%, �
� � � ����	���% �

���� 
���
	�%. ��
���
	��
� ��
$��$

 

��
. 13: �  � � )�������� (� °C) �
�������
	���% �
����������% �����

�$
� ����$�
 �
� 
�$����� ������ (a) � �
������% �����

�$
� ����$�
 (�) � A����
������ � 
���
	����� 
�����
�� ���	
 � �� � �
����� (�
����
�	�=3�� ��������� �
� ��
����� �� 
��
��
��	���% � ��	�(���	���% �
�� ��	
���������� ��	����
������� ��	��
���). 
����������$=3�� A���
������� �
���� �
 ��
��� 1978-2007 ��. (� °C/30 	��) �� �
���� 

�
�
	��
 NCEP (�) � �
���� GISS (�). 
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�����

�$
���� ���	��
 � �8 (
��. 13�) ��	
 ������
�	��
 � 	���%��� �
����� �� 

�
���� 
�
�
	��
 NCEP �
 ��
��� 1978-2007 ��. (
��. 13
). � ������������ �  

�
����� 
�
�
	��
, ����	� ����
�������� ��
����	���� �����	���� ���% 

�
������
� � ����
$ �� 30°�.>., � �
���	�� ��	���� �����	����� � �
�����. �
��� 

��

���, 
��$	��
�� �
��������� ����	���� A����
������� ����
�� � ���, ��� 

�
���
�� ��	����
 �����	���� � �
������
� ����
���� ��	$>

�� ���	
 ���� 

����
�
 ������������� ��	��
����� �	��
�
. � �� (� �
��� ����	� �� 

����
�������� ����	��
��� � ��

�����
�, ��	�=3���� ��	�����	���% ��
��% 

���
�������� �����

�$
���� �
���
, 
 �
�(� �


���
��% �����������= 

�����	���� ��	������� $��	������ �������

��� �

������� �
��� � 
������
�. 

8����	���� � �
������
� � ����	� �
�(� �	
��� �
�	=�
����� � �� 



��
���

������ �
 �
����� � \(��� ��	$>

��. G�� $�
���
�� �
 �
(��% ��	
� 



��
�������� �����%�����, ����
����� � $��	������� �������

��� �

������� 

�
��� � 
������
�. 

)������$
	���% ��	
� ������� ���	
 � ��	
����� � � �
����� ��	 ������ �
 

������ 
��$	��
��� ����	����	���� A����
������� � ����	����
���� 
���
	���� 

������� ���	
 ��	��� � A��� 
�����
�. � �	��
	���� � �
������	$>

��� (� �8) 

�����	����, ��	
� 
���
	���� ������� ���	
 � �
����� �
���
�� �
 30% ��	�>�, 

��� � ��	
�����.  )����� ������ ���	
 � �
��������� 
������ �
������ � 

��
����	����$ �����	���= � ����
��% ���
���, ����
��% "�
��� � �
�
���% 

����
�, � �� �
��� �
� ������ ���	
 � ��	
����� ������ �������% ��	
� � 

�����	���� �
� ��������% "�
���% � ��������% ����
�=. / =�$ �� 55° �.>. A����� 

�� 8�� � ��	
����� � �
����� �
��	�����	��� ����
���. 

� ������� 5.6 ���$(�
=��� ��	$������ 
��$	��
�� � �
�������� �������� ������ 

�	
��. 8
����
�	����� � �
���% �	
�� A����
������ $�
���
=� �
 ��, ��� 

�
���
�� ��	����$ �����	���� � �8 �
 ���	����� 30 	�� ����
��	� ���������, 

����
���� ��
������ � ��	�(���	���% �
�� 
�	
��������% ��
�����
	���% 

��
�$	����, ����
>
=3�% ��	����
������ ������������ ��	��
��� (� ��
����� 

60-70 	��), ��� ��	����� �
�����% $���
��>����� �	��
	����� �����	����.  

G����
������ � ����	��� ��3�% ��
�$	���� ���
�
, �
� ����	����
��� 

�
�����
����� �� �
���� �
�	=����% 
������
���� �����%�����, ���
���
=�, ��� 

��&J ��%������	��� $��	��
	
�� � ���	����� ������	����. 8
��������� 
���
�� 

���	����� A����
������, ����
���� � �
���% �	
��, ���
�
	�, ��� 
���
	�� 

������� ���	
 �� ���
�
 � 
������
$, ����
���� � ��&J, ��%������	��� �
������ � 
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��
����	���� ���������� �����

�$
� � ����
��� ��	$>

�� � ��	��. 8
� A��� 

��
�>� ����
���������� ��
$��$

 �
�	=�
����� �����	���� ���	����� 

������	���%. �	��$�� ��������, ��� ��	$������ 
��$	��
�� �� ��
��� ��� �������� 

��	
� 
��
���������� 
���
 �

������� �
��� � �	��
	���� �����	���� EE ���
, 

�


���
��� �
���
�� ����
��� �� ����
���������� � 
�
	���
��
�>���� 

����	���� A����
�����
�. "�	� ���	
���� ������ � ��	
�� ������������ 

��	��
��% ��&J � �����	���� ���	����� ������	���% ��
��, �� A�� $�
���
�� �
 

�
��>���$= (�������������� �
���
�� � ��
 

�
) �$�������	������ �	��
�������� 

����	�% � $��	�����= �

������� �
��� � 
������
�. �
�(� �����
����, ��� 

��$�
����� ������������ ��(�� ���� �
(�
 � ��������� «�
��������� �����» 

(tipping points), �$�������	���� ��
���� � �	��
�������% �������, ��	��� ����
�� 

����	�>�� ��������� �����

�$
� ���$� ����
�� ��	���� ��������� ��
$(
=3�% 

�
���, �
�����3��, � ���= ���
���, � �3� ��	�>�� ���������� �	��
	���% 

�����

�$
�. �
���� 

��������� 	���� � ���	����� ���� ��
����	��� $���
�	���. 

!�� ��	�(���	���� ��

���� �����% ��(�� �
������ � �
	���%>��$ $����>���= 

	������� ���
��
 � ��	���$ �
���= 	������ 	��
 $(� � ������� �	��$=3�� 

�����	���� ������	���%, �
����	
�
�, ��� �
��������% ��
�� �	� �	�3
�� 	������� 

���
��
 ��(�� $(� ���� �
�%���. �����(��, ��� �����(���� A���� ��
������� 

��
����� �
����>	� ��	������� ��
����	���% ��$�
����% �	$��$
���, ����
�>�% 

�� �
�� � 
��
��������� �����	�����. G�� $�
���
�� �
 ��, ��� ����������
� 

��	����
����
� �	��
������
� ������������ ��(�� �
������ � A���
��
	���� 

�	��
�������� ���������� �
(� �
 ���� $��
������ ���>���� �����%�����. 

����
����� ��	�(���	���% ��������� ��	����
������� ������������� ��	��
��� � 

���	����� ������	���� � 

��$3�� 

��
������� �����%������, ����
���� � 

$��	������� �

������� �
��� � 
������
�, �
���	� � $���
��>��$�� �����	���= 

� �
����� � ����
�� �
����� ��
���� 	����. � �� (� �
���, 

��������� 

�����	���� ���
���(�
	��� 
���� 
���
	��� ��	����� ��� �
� ���������
�� �8, 

� ��� ���	� �
 ��

���
�� !�����.  

)��	����
��= �	����� 
���
	�% 	������� ���
��
 �
 ���
���$ 
������
��% 

��
�$	���� � ��
��
��
��� A���
��
	���� �������� 
�(���� � �����% ��
��� 

�����3��
 +�

�� )����. � A��% �	
�� � ����	����
���� ��
�� A����
������� � 

&�J� ����
��������
 ��	���%�
� �
��������� �����

�$
��� (� 

��
�$	��������) 
�(���� �
� ���������
�� �8 �� 	���������� D

�����
 � 

/

����� ��
�%, ����

� ��(�� �
������� � 
����� ����	��
���� �
� 
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���������
�� � ��
�
���� ���
������� ��������% �	�3
�� 	������� ���
��
 � 

�
����� � �
��	�(�� ���������% ���
����, ��B����=3�% �
��% ��	���%��% 

���	��. � ������� 6.1 

���
�
��
=��� �����	��� �
���
�� 
���
	��� ��	����� 

��� �
� ���������
�� �8, ���
���(�
�>����� ��	����� ��	�(���	����� 


���
	���� �����

�$
� � �
����� � �
����
	����� 
���
	���� � 
������ 

D

�����
 � /

����� ��
�% (D/&). �
��� ������� �
��� ���
���(�
	��� 

��
����	����� ��
��
��	����� 
���
	���� 	������� ���
��
 � D/&. 8
�������� 


�
	�� �
��	�(����� 

��� ���
������ ��
��
��
��� �
$����
�>�
���� 

��
��
��	���� 
���
	�% 8�� � �
��	
�
���� ���
� �������
 � ����� 
���
	�% 

	���������� � D/& � ��	����� ��� �
� 
�����
�� ����������� �8. �	� 

���	����
��� A��% �������� ��	
 �
������
 ��
�� ���	����� A����
������� � 

&�J� ECHAM5 c �
�����
����� 
���
	���� �������

��� ��
����� 	��
 (/&<) 

� D/& � ��
�
���� 100%-1% �
� ���������� �
���� �

������ $�	����� (>���� 

A����
�������, � /&< 100%, 80%, 60%, 40%, 20%, 1%). ����
��� ����	� � 

����
����
 A����
������� �
������� � ������� 6.2.  

!��$	��
�� A����
������� 

���
�
��
=��� � ������� 6.3. ���

$(�� ��	���%��% 

���	�� 8�� � ���
	����� ���

 � ��(��% �
������
�  �
 ��������� �������

��� 

��
����� 	��
 � ������ ������. 

4��
	���-������
���
� �������
� 


���
	�� ���
	����� ���

 � 

�
����� >�
��
�, ����
��
� � 


������	��������% 
���
	��% 

��	�
���� ���
� ��	����� 


��$	��
��� $����>���� 

�������

��� ��
����� 	��
 � 

D

������� � /

���� ��
�� � 80% 

�� 40%. � �	$�
�� (� $����>���� 

/&< � 100% �� 80% � � 40% �� 1%, 


�
����% 
������
��% ��
�$	���� 

��	����� ��
�����
	��
� ��
$��$

 

� ���	��������% ��
�$	����% �
� 

���������� ���	
 � 
������	���������� 
���
	����� ���
��� � �
����� >�
��
�. 

*�	���%��% ���	�� �������� ��
�>� �
���	����� � ���

	� � "�
���%���� 
������ 

(10-30° �.�., 45-55° �.>.) (
��. 14). )�������� �����

�$
� � ���
	����� ���

 ����� 

 
��
. 14: �  � � �
����������
� �
�����
������
� 
�����

�$

 (� °C, ��
���% 
��) � ���
	��
� 
���������
 ���

 �
 $
���� 850 �8
 (� �/�, 
��(��% 
��), ��
�������� �	� "�
���%����� 

�����
, �� �
���� A����
������� � &�J� 
ECHAM5 �
� �$����� �
�����
���� 
�������

��% ��
����� 	��
 � D

������� � 
/

���� ��
�� �	� ���
�
�, ���

� � ���

	�. 
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����
�� ��(�$ ����%. ����
	��
� �������
� 
������� ��B������ ����(���� 8�� � 

�
� $����>���� /&< �� 60% �� 40%. 4�
����	��� ����	��
��� �
� ���������
�� 

�
� $����>���� /&<, ����������$=3��� �

�������� ��������% ��� 	��
 

����
������ D

�����
 � /

����� ��
�%, [40-20]%, ��� �
���
�� ����
�
�� � 


����� $����>����� /&< � A��� ��
�� � ���	����� ����, �
�� �����
��� 

�
����	�(���, ��� ����� ��	���
� ���
 2005/2006 �. �
� "�

���% (�
� � �
$��� 

�������� �������) ���	
 ���� ����
�
 
���
	���� �
�
���� 
������
� 

�$
�$	������� �����
�� ���	
 � ����
������ D

�����
 � /

����� ��
�% 

��	������� ��	���% ��
��
��	���% 
���
	�� /&<. )�������� 
������
��% 

��
�$	����, ����
���� 	��
	���� ���������� ���	
 �
 ��(��% �

���� 


������
�, ��
���	�=��� �	�(��� ��	���%��� ��
�����%������ ��(�$ 

�

��	����� � A����
	����� �

��
����� ���
����
��. G�� ��������� �
� 

���������� ���	
, �
�����3
� � ��

���
��= ���	��������% 
���
	�� ��
�$	���� 

� 
������ D

�����
 � /

����� ��
�% (�

��
����% ���	��) � ��������� 

��
�����
	���� �

������� �����

�$
� ��	��� ��������
 ���	
, �
�����3�� 

(�	
���

� ��������= ��
��������� ���

) � 
������	��������% 
���
	�� 

��
�$	���� (�

��	����% ���	��). ���
�% ���
����, �
����	�(���	���, 

�
���	
�
�� � �	$�
� � $����>����� /&< � 80% �� 40%. 

� ������� 6.4 �
��	�(��
 
�
	�������
� ����	� ��
��
��
��� ��	���%���� 

���	��
 
������
� �
 ��������� $��	����
=3�%�� �
�
�� �
 �� ��(��% �

���� 

�	� $�	���% ������� ��
���
 � 
������ D/&. �	� ����
��� ��	
�
 ��
��������� 

���

 ����	����
	
�� ����	� �A%	�

-G��
�
. '�	���� ���

����� A��
��� �
 

��(��% �

���� �

��	������ ���

������� �	�� (D8�) 
������
� �����	��� 

����
�� ��������� �


���
����� ��
�$	���� � D8� � 
���
	���� �����
 ������ 

���	
 � ��	$���� �����$ 
���
	�� �
�	���� ����$�
 � 
������ D/& �
� �$����� 

������������� �
�
��
 � $�	
 ���	������ ���

 $ ����
������ �� �����
���������� 

�
�

�	����. !
�

���
��
� ����	� ����
����� ��
�>� ������
�� ��	���%��% 

�


���
 
���
	�% �
�	����, ��	$�����% � ����	���� A����
�����
�.  

������ 6.5 ����
(�� ���$(����� ��	$������ 
��$	��
��� � �������� ������. 

�
(��� 
��$	��
��� 
�
	��
 �
��������� ���	����� A����
������� ��	����� 

�$3�������
� 
�	� 

��
���

����� (�������

���) ��
����� 	��
 � D

������� � 

/

���� ��
��, ����
�% ��	����� �
��������� �


���
�� �	��
�������% �������, 

��
���	�=3�� ��	���%��� � ����
�� ��
����� ��(�$ 

�	������ 
�(��
�� 


������
��% ���$	���� � �$���	�
��� � ��	�
��� 
�����
� ����
���� ��	$>

��. 
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�
(��� ������� ��	����� �����(����� ����	��
���, 
 �� 
�
��
� �(��
����� 

�����	����, �
� �
�	��
=3��� � �
����� ���������
�� � ����� �
 
����� 

�����	���� � �
��% �
����� ��	������� $����>���� 	������� ���
��
 � 

D

������� � /

���� ��
��. �	� ��
��
��
��� �
���� ���	��
 
������
� 

�
��$���� ��������� /&< � ��
���	����� ��
�
���� (� �
����
�	����� �	$�
�, �� 

80% �� 40% /&<). )�������� ��������� �
�>�
�
 �(��
=��� �
� 

A���

��	�
��
��� �	��
�������� �
����� �	�3
�� �
���������� 	������� 

���
��
 �
� �
���	(
=3���� �	��
	���� �����	���� ��-�
 $��	������ 

�������

��� �

������� �
��� � 
������
�. G�� �
�� �����
��� �
����	�(���, ��� 

��
�������� ��	����� ��� ��(�� $��	������� � �$�$3�� ������
� �
 �	��
	���� 

�����	���� � �����	���� � �
�����. 

� 
�����% )���� �
��	
�
���� ����% ���
���� ����
�� �	��
�������� ��������% 

(�
�������3�� �
 �
�>�
�
� ������	���%), ����
���% � �
��

3����� 

���
��������� �
����
 � D

������ ��
�, ������������� �
 �
���� �
���
�� 

��	����� ��������	��� ���	�% � ��	���% 
�	
��������% ����, ����$�
=3�% � 

�
����$. G�� ��	���� ��$�	��	��� �
	����� ��	�(���	���% ��

���% ����� ��(�$ 

�
������ � ��
���� 	����, ���
���� 

���
�
��
�>�%�� � �	
�
� 3-5 � 

��	�=3�%�� ����� �� �	=����� A	������� � ��
��
��
��� ��	����
�����% 

�	��
�������% ������������ � �
�����. 8
��

3���� �
����
 ��	� ����	��� � 

���	����� A����
�����
� � �	��
	���% �	��
�������% ����	�= ��3�% ��
�$	���� 


������
�, ���
�
 � ��
����� 	��
 �	���	������= ��	�� 4 ������ 	�� �
� 

�����%����� ��
��������� (1000 	��) ����=3�%�� ��	�����% ���������% (±2 ��/�2). 

� ������� 7.1 

���
�
��
���� ���
���
 �	��
�
 �� �
��� ��	����
, 

���
���(�
�>
��� 
������ �	��
��������� ����������� � ������� >�
��
� �8. � 

�
����3�� �
���, �������� ���
������, ��B����=3�� �
��� �	$��$
���, ��	����� 


��
�
���
��� �	$���������% ���
�������% ��������� � ����
��� ��
��. � �
���% 

�	
�� �
��	�(�� ����% ���
����, � ����
�� ����
�� �	��
�������� ��������� 

����
�� �
��

3����� ���
��������� �
����
 � D

������ ��
�. 8
��

3���� 

�
����
 ��	� ���

$(��� � �	���	���� A����
������ � ����% �	��
	���% 

�	��
�������% ����	�= )�����$�
 ��
���� ���	����
��% ��. <�%����
 � /�	� 

(KCM). &���	� � 
�
	���
��
�>�%�� A����
����� 

���
�
��
=��� � ������� 7.2. 

�
(��% �����������= ���
��������� �	��
 ����	����
�>�%�� ����	� ��	����� 

��������	��� ������� �
���

��������� 

�
�>���� (����� 100 �� � ����
��� � 
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D

������� ��
��), � �

������ � �
$���� ����	���, ����	����
�>����� �
� 

�
�������� �������� �	���	���� A����
�������. �
��� 

�
�>���� �����	���  

��	�� 
�
	������� ����	�
��
�� 

��
�����%����� ��(�$ 


������
�%, ���
��������� 

��������� � ��
���� 	���� � 


�	
��������� �����
� �
�����. 

&���	� KCM 
�
	������� 

����
�������� (�	� ������ 

�
���

���������� 

�
�>����) 

���
������$= ��
�$	���� � 

D

������� ��
�. "����������� 

���>��� �����%������ � 

A����
������ ��	� 

��
���������� (� ��
����� 1000 

	��) ��������� ��	�����% 

���������% � 
��	��$��% 

±2 ��/�2. �
��� ��������� 

���
	���
��
��� �
����
�	�=� 

�

�
��� ��	�����% ���������% 

�
 �
������� �
�>�
�
� ��
���
 

1000 	�� � ��
��� +�	����
 

���	
��� �����
� �
	��-

�	��
�������� 
������
$���%. 

!��$	��
�� A����
�����
 

�
����
�	��� � ������� 7.3. ��� 

�	���	���� ���
����� 

���
��������� �
����
 � 

D

������ ��
� (
��. 15) 

�
����>	� �� �
��� ���	������ 

A����
�����
 ��	������� 

��������� ��	�����% ���������% 

(����	
� ���$����
 �
 
��. 15�,�,�) � ����	�. <���%��% ���	�� ����	���� 

�


���
�� �
 ���>��� �����%����� �
����
�	�� �
 
��. 15 ������� ���$����
�� (� 

��
. 15: ���
�������% �
���� � D

������ ��
�, 
D&, (
), �
��� �
�
����� �����

 D&, ���
��
� 
	����  (�), �
�	���� ����$�
 �
� �
�
���% �
���= 
D& (�), 
���
	�� 8�� � 
������ D& (�) � � �8 (�). 
��
�� 	���� – �
����������� ��
�����. x�
��� 
��
��� 	���� – 100-	����� ���	���3�� �
�����. ��. 
����� �	� �
	���%>�� ��������%.�



� 35

��
����� 1000 	��), �
���	�� ��
�>� (� ����	� �$��

���� �
������
�

������� 

���	������) ������
=3�� A��	=��= ����������$=3�% �


���
������ �� �
��� 

����	����� A����
�����
 �
 ���	=������ ��
����� ���
����� �
����
. 8�
���� � 

��������= � �$	���� �
������ �
���
�� �����	��� ������	���% � �
��� ��������� 

�	���� ���	� 300 	�� � ���	��$=3�� 
����� ����

3����� � ��
�
	����$ 
�(��$ 

� �
������ ���	� 2 �� (1 �� = 106 �3). �� �
��� ���
����� �
����
 
�	
��������� 

���� �� ����

���
=� �
 ������ � �
�

�	���� D

�����
 ��
�, 
, �
�
����, 

���	���=��� � �
�
�$, �
��� ��

��� $��	��
� �
$����
�� � +
��	
������ ��
� � 

������� ���	� ���������� ����
�(�� +
��	
����. 8
� A��� �
�������� 

��
����	���� ����	��
��� �� ��	��� � 
������ D

�����
 ��
�, �� � �
� ����
��% 

"�

���%. ����
	�� 8�� �
�(� �
����� �
� �
������	$>

��� ��
�������. 

��
��
��	���� �����

�$
��� 
���
	�� �
���	�� ��	��� ����% � ������
=� -2°C 

�
� ����
��% *�
�����%. G��	=��� �
����
 $�	
���
���� � �	
�������$= ���
�= 

����
���������� 
����
��
 � ��(�� ���� �
��������� ����
��������
 � ����3�= 

�
����% ����	�. �
(��� $�	����� �	� ��$3����	���� ����
�� ��
������ ��	����� 

�
	���� ��	�(���	���% ��

���% ����� � ��	
��� ��$���%������ 

�������� 

�������. � 

���
�
��
���� ��	����  ����
�% ���
����� �
����
, ��	�(���	��
� 

��

��
� ����� �$3����$�� ��(�$ �
������ � ��
���� 	����. &��
���� A��% 

��

���% ����� ���
���� ���	����
	�� � �
����$3�� �	
�
�. � 
�
	���
$���� � 

�
���% �	
�� ����	���� A����
������ ��$���%������� ������
��, ����
, ��	������� 

$����>���� ��	�����% ���������%, �	�3
�� 	������� ���
��
 $��	����
���� 

(
��. 15�) � �

���
 	������� ���
��
 �
��	�(
���� � �
�
���% ����������� ��
�. 

*
� ���
���� 	���� ��
�� � �
�
���% �
��� D

�����
 ��
� 

����
���� 


������	�������
� 
���
	�� 
������
��% ��
�$	���� (
��. 15�), ��	
�	�� =��-

�
�
���� ���

 � ����
$ �� ����
�(�� *�
����� �, �
��� ��

���, ��	
�	�� �
����. 

G�� �����
�� �
	���%>�� 

��
���

����� 	������� ���
��
 �
 �
�
� ��	��� �� 

�

����, ��
���	����% ��������	��� ���	�� � ��	���� *�
��(���� �������� � 

�
�
�$ �� ��
���
�
, �������=3��� *�
� /
� � N�����
���. � ���

��
���� 

��	������� �����%����� $����>
���� �	�3
�� 	������� ���
��
, ��� $��	����
�� 

��
�������� ��
����
 ������� � �
$��� $���%����� ��������� � �
������ � 

D

������ ��
� (
��. 15
). � ������� 7.4 ���$(�
=��� �������� 
��$	��
�� 

�
���������� 
�
	��
. �����
����, ��� �
��

3���� ���
��������� �
����
 � 

D

������ ��
� �
������ � ��
����	����$ ����	��
��= � ������� >�
��
� 

����
���� ��	$>

�� � ��
���
�%�� ���
�������% ��
�$	���� � ����
��% 
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��	
����� � �
��������� ���
��. 8�	$������ 
��$	��
�� �������	����$=� � 

�$3������
��� ����� ���$
�
��� � 

��������% �	��
�������% ������� � 

�
��	
�
=� ���$= ����$ �
���� �	� �����
��� ����
�� �	��
�������� ��������%, 

�
��	�(��
=3���� � �
	���	��
�������� 
������
$����� � ����
��% ��	
�����, 

����
��� ��
�� � "�
���. 

� ��	�,����� �
������� 
��$	��
�� 

���� � ������. 

1. � ����3�= 
�
	��
 �
���� �
�	=����% ����	��
 �


���
�
� ��
$��$

 

��	����
�����% ������������ �����

�$
� ����$�
 � ������� >�
��
� �8, 

$�
���
=3
� �
 ����� A��% ������������ � �

�
����� 	������� ���
��
 � 

���
��������� ��
����
 ���	
 � ��	
��������� �����
� �
�����.  

2. *
 ������ ����	������� 
�
	��
 �
���� �
�	=����% � 
��$	��
��� 

A����
������� � �	��
��������� ����	��� ���
�
��, ��� ��	����
������ 

��
����
���������� ��	��
��� ����
�
�	
��������% ��
�����
	���% ��
�$	���� 

(��&J) ����
�� � ����������$=3��� ����������� 	������� ���
��
 � 

�����

�$
� � �
�����.  

3. 8
��	�(�� ���
���� �	����� ��&J �
 �	��
� �
����� ���
������� 

���$	���� ������������� ���
��������� �
����
 � D

������ ��
�, $��	����% 

��	�(���	���% ��

���% �����= ��(�$ �
������ � ��
���� 	����. *
	���� �
��% 

��

���% ����� �
��������
�
��
�� � �
��������� ���	����� A����
�����
� � 

�	��
��������� ����	���. G��� ���
���� ��B������, 
 �
�������, �����	���� 

��
����� EE ���
 � �
�����. 

4. � ����3�= ��	����
������� A����
�����
 � �	��
	���% �	��
�������% 

����	�= ���
�
�
 �����(����� ��	���� �
��

3���� ���
��������� �
����
 � 

D

������ ��
�, �
�����3��� � 
����� �	��
�������� ���������� � ������� 

>�
��
� �8. ��B����� ���������% ���
���� A���� ��	����, ����
���% � �
	����� 

��	�(���	���% ��

���% ����� ��(�$ �
������ � ��
���� 	����. 8�	$������ 


��$	��
�� �������	����$=� � �$3������
��� �
(���� ��
��
 ����
��	������ � 



��������% �	��
�������% ������� � �
��	
�
=� ����% ������ �	� �����
��� 

����
�� �	��
�������� ��������%, �
��	�(��
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